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gogbogodd

U31bgdbdgbogbouoagboagbon

class A class B
( ) A

el] class C

0 3.1 0b000dbboboggoobogod

1. oo ABCOOODOD XOOOOOO

2. 00000 A000O0OODOO0O e100buoubbbbog e1 d
ool Xooodgod

3. 00000 XU el bgboboouooa
gobobooooooo

4. 000 BCUUOOOO el 000OOO0OO

oo obCL U obuognooobbdoobnbogobad

field
Fdi —— 0O0bOOoooooog
event
—— 0JO000OO0o00oooboobobbbo0oobD oobooboo
i : Input_Fvent,;
out : Output_FEvent
end —— FdI

—— J0b0obOobOooooboobbobboboboobon
10 Fdl.mn
Fdi.out
—— ODOoooogag
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3.1.6 U0UUODOOOOOOOO

opTSUUubuuubnogooobCcL bbb uugbobonooogon
guddbdgdbogubogobogobboboobubuooubbuoboonuoboboao
gugbobbbdgoobbodgouobboooubooobboboobbooobobn
gogobdbbboogbgbogbbobbonobonooboobboboogn
gugubgoogobgobuooboooobbgobobooooobboobooan
O00000CDO0000DO0O00DOODO0000ODOo0O00n (GENERIC.EVENT)
guobdgbgbgoboobdbbooboubuougubuogoooboubobogon
O0OO000O000d00o0OOoOoD0ooDoogoooobo/oboooooo

oo opCLO0b0boboboubooonoubobooooooboobonbon

event —— O0O0O0OOOOOOOOO
Sample_Event
inherit —— O0O0O0O0O0OOOOOODODODOOOOOODOOO
generic_event
attribute —— 00000000 DO000D00O00 ooooooa
attrl : Int;
attr? : String
end —— Sample_Event

3.1.7 OUoogboooobod

obCL UOUudgbuugbubgbougobogubbooonbuooboog
gubooooubbbodbobobouobobbodbouobuoooobobbo
gobgbubgobuoubogobobuoooubooboobbbboobonn
goboobuoogboboodobbogbobboobobboobobooorTsoogog
goudtdtbdobodunogbbogubooggbogoopcL bbuggnoogn
OooOoOO0000DbOoOoOooObObbOOo000/ooobobbooooooobon

3.1.8 U0OOOoooooouogo

gobogobouoboubbuboobduboobooboboobobouboa
gogogbbboddboboboboboobobonoboooobobobogn
OoOO000o0OooooboOOoooooboooobooooboooooobDbooooo (bbb
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O00)00oOoooOooOOoOoooooOoboooOobooboOoooooboobDbooooooo
gogoouogbdgodod

16



3.2 ObCLUOUOUOOONU

obCLUbbgubounogbnuogguubug ecpuobooonooooboooon

3.2.1 CDUOUUUOOOO

OO0000000o0oooo cpgooonoooo 2000000000000 /0
O/O00000000OD0O3000bO0O000ooobobooo Lecbooooooonoono
gogn

1.

2.

3.

guocbuugibbd Lecbuooboobgbgbguoooboboobon
gobobbobobooboooboLecpuonouonooooboboboooa
googboouogbobogdgoo

gbgbgbobogoubobuoncbuuuoooobbobobnouboon
godgdd

gbootdbooboobobbogbgobboo

gbooggbooboobobnbobooobon

D‘EI EI'D E[DDD
: 7 7
Ol > || 0O
| sTOR, I
| A
EID"DDEIDD CDDD'DDD

g 32 cbuugpuuogoan
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3.2.2 CDUU0OOOOOUObObOOooO

cboboboobooboooobooobo/oooboboo/Lepobbooooooon
guboogobouguoog a3 oMrudnouoognooounboboooobooon
godobog 1gubgubggubgboboboobouboooobooban
o340 opTsbbbodguobooboboboooboobooboboa

CD Player Panel

Turntable

033 Ccbdbgubugonooogn

C:d_pal yer _panel '\' N
(st op_but ton ™ (turntable N ﬁcd_panel mage\
play

/ disp_msg.SetMsg(" PLAY")
push disp_msg
Istop / SetMsg(" Stop")
~_ Refresh_lcd
/- ™ /di .SetMsg(" STOP"
pl ay_button d;i_g 5 )
stop
& / disp_msg.SetMsg(" STOP") @V
;]l:a disp_msg /\>
‘\) Y pause
! d?$7nsg.SaMsg("PAUSE") disp_msg
( pause_but ton \ disp_msy | SetMsg(disp_msg.GetMsg)
@\_/ e e
s pause pause
/ disp_msg.SetMsg(" PAUSE")
push disp_msg
n =

0 34: Chbuggggobrstobogunn
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10

3.2.3 CDUUUUOOO ObCLUOO
3.23.1 CDhUUUbOOUgouoobuobbooobd

U0 GENERIC.EVENT UOOUODOO DISPLAY MSG EVENT OD0OUOO0OOO0OOUO
DISPLAY MSG EVENT U0O0OUOO0OUOOODOOOOO 350000000

event
DISPLAY MSG_EVENT
inherit
GENERIC_EVENT
attribute
message
operation
SetMsg(msg) is
do
message = msg
end:
GetMsg is
do
Result := message
end
end —— DISPLAY MSG_EVENT

0 3.5: DISPLAY MSG_EVENT OUOOUOOO

BUTTON_FIELD, LCD FIELD OO UOOO0O00O0O0O0O0O0OOODO0O0O 360000

guotdbobooddboooddgbdod BUTTONFIELD OO0 ggd
BUTTON_FIELD OO GENERIC EVENT OUU0UO push, stop, play, pause UU U0 [
goddboobogodobb Leb oo odon LCDFIELD DOO0OO00n
LCD_FIELD OO DISPLAY MSG_EVENT OUOUD dispmsg OO0 OOOOOOOO

oo oo boooboboboobooo
Jooooodoooooooo
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field
BUTTON_FIELD
event
push : GENERIC_EVENT,
stop : GENERIC_ EVENT;
play : GENERIC EVENT;
pause . GENERIC_EVENT
end —— BUTTON_FIELD

field

LCD_FIELD
event

disp_msg : DISPLAY MSG_EVENT
end —— LCD_FIELD

0 3.6: BUTTON_FIELDULCD_FIELD 00O 0
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3.23.2 CDUUUOOUOOoUoon

OO0/000/00000000000D0000DOOO0O00O0o0OoOooO 3rggo
U TURNTABLE_CLASS O OobTS UUOUOOOOOOOOU

/turntable N

play
/ disp_msg.SetMsg("PLAY")
disp_msg

stop
/ disp_msg.SetMsg("' STOP")
disp_msg

stop ¥
/ disp_msg. SetMsg("STOP") @y

disp_msg "
pause
| disp_msg.SetMsg(" PAUSE")
/ disp_msg
s M pause
/ disp_msg.SetMsg(" PAUSE")

disp_msg

- J

0 3.7 TURNTABLE CLASS O OobTSOUOO4odn

0330000000000 TURNTABLE CLASS O 00OOUOO BUTTON_FIELD
N
LCD_FIELD 00O DO UOUOUOBUTTON_FIELD OO stop, play, pause U0 OO OO OO
gboodbutdiddispmsg UDOUOUO O LCD_FIELD OO0 O

OO0 TURNTABLECLASS UOUOUOUOOOOoooooon 3.8000d

O 3.8 U000 DO0OO¢transition DU UODODUOOOUOODOO0OOOOODOOO T1 0O
source U D OUOO mt UODOOODOOODOOOOOO T20 input JOO BUT-
TON_FIELD D00 OO O0OOO play U Doutput U U O LCD_FIELD UUODOODOOO
U dispmsg DOOOOO0OOO

gobububobobbobbobobbbdobbbddddl BUTTONFIELD
U0 push DUOOO0DOOD0OOO0OOstop UOOOO BUTTONFIELD U000

godboobobodboboogd STOPBUTTONCLASS UUOOUOODOOOOOO
g390o0dy
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class
TURNTABLE_CLASS
field
BUTTON_FIELD, LCD_FIELD
state
s_stop, s_play, s_pause
transition
T1 is
source
10 init
do
LCD_FIELD.disp_msg.SetMsg("STOP")
destination
s_stop
output
LCD_FIELD.disp_msg
end;
T2 is
source
20 s_stop
input
BUTTON_FIELD.play
do
LCD_FIELD.disp_msg.SetMsg("PLAY")
destination
s_play
output
LCD_FIELD.disp_msg
end
30
—— (DO0Ooooooono)

end —— TURNTABLE CLASS

U 3.8: TURNTABLE_CLASS U 0 [J
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class
STOP_BUTTON_CLASS
field
BUTTON_FIELD
state
S1
transition
T1 is
source
10 init
destination
S1
end;
T2 is
source
S1
input
BUTTON_FIELD.push
destination
20 S1
output
BUTTON_FIELD.stop
end
end —— STOP_BUTTON_CLASS

U 3.9: STOP_BUTTON_CLASS U O [
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3.23.3 CDhDUUUOOgooooon

0000000 TURNTABLE CLASS (0 3.7) 0000000000 0O0OO0OODOO
googoogoooon

/new_t urnt abl e N

play
/ disp_msg.SetMsg("PLAY") fwd down
disp_msg / disp_msg. SetMsg("FWD")
disp_msg

stop
/ disp_msg.SetMsg(" STOP")
disp_msg

stop
/ disp_msg.SetMsg(" STOP") s play s fwd

disp_meg /—\>
pause
/ disp_msg.SetMsg(" PAUSE")

/ disp_msg
fwd_up

S_pause / disp_msg.SetMsg("PLAY")
pause disp_msg
/ disp_msg.SetMsg(" PAUSE")
disp_msg
o J

0 3.10: NEW_TURNTABLE CLASS 0 ObTSUOUOOODO OO

O 3.1000000UOUONEW_TURNTABLE_CLASS U OO0 sfwd O OOOO
fwd _down, fwd_down UL U DU U0 TURNTABLE CLASS D0O0OU0ODOOOOOO
U000 TURNTABLE CLASS DO UOOUOODOOOOOooOooon
NEW_TURNTABLE_CLASS 1 TURNTABLE CLASS U0 UOUOO4OOO

0 3.11 0 NEW_TURNTABLE_CLASS U0 OO0 0oy
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class
NEW_TURNTABLE_CLASS
inherit
TURNTABLE_CLASS
—— TURNTABLE CLASS OO00O0ODO0OO0OOOO0OOOOOO
state
s_fwd
transition
Tfd is
10 source
s_play
input
BUTTON_FIELD. fwd_down
do
LCD_FIELD.disp_msg.SetMsg("FWD")
destination
s_fwd
output
LCD_FIELD.disp_msg
20 end;
Tfu is
source
s_fwd
input
BUTTON_FIELD. fwd_up
do
LCD_FIELD.disp_msg.SetMsg("PLAY")
destination
s_play
30 output
LCD_FIELD.disp_msg
end

end —— NEW_TURNTABLE CLASS

U 3.11: NEW_TURNTABLE_CLASS U J O
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L] 4[]

ObCL UUOUODOUODODUOUOOOOOON
U

godt obCLUdbgbugbobongoubobuogboobouboooooonoon

4.1 ObCLUUOOOOOOOO

goodboo opCLuUdbodbodbogbogbogboagouobeL i
goodboououggoouboooaobon

gobodaoo

e ObCL - ObML OO ODOO

e ObTS ULUOUODOLDDOO ObML

e OBCL UODODO

googd

4.1.1 ObLBCL - ObML O0OOOO

gobboboubdgod obCLbugubobogooooopTstgubugognog
obMLOOODOODOOOOUOOoOooooooboobobobbbobooboooaon

gododbuoddgobooouboobod obpMLO ObCLOOOOOODOOODOODOO
googd
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4.1.2 ObTs UUUUOoouodn ObML

ODoooboooobobD obMLOODOOD [Bj00OO000C00O00DODODOOObML
Uooddn Standard ML OODOOUOOOOOOO OPTSUOOOO MLUOOOOOO
gogoouboooobbodgobobobobobobbobobo

gbodbogdogobopTsuoboboobuboboooobooooboonoooa
gudbougggoubooobogubobggboooodoboobbbboon
OO0 (D00obobO0o0oboooboooboooboooooO)bboooobDoooboboooobo
gobobbogbdgbdouuboubodbobooboouogobooooouoboa
gogbbobbdbobobouboboububooboobobooooobg 4210
gogbodbobobbooboobooboobobobooobbobnbobonooogn
godbdboobdaboguagooogbooboogobobobo MLoooog
goodbboo42200dboooouooMLoogoguooobougbooaga

U4100000000000000000O00O0MLO0OOOO0OO
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(x*x Data and Type declaration *kx)

type Name = string

(*

0ooooooooooooooooooon
1. Attribute_type OO OO0 O
2. eqCommon O OOOOOOOOOO0O
3. ppAttrVal D 0O OO0 000000

%)

10 datatype Attribute_type =
Int of int
| String of string
| Null of Attr

type Attribute = Name * Attribute_type
type Event = Name *x (Attribute list)
type Env = (Name x Attribute list) list
datatype X =
Initial
20 | State of string
| Single of ((X * Attribute list * Event list * Env) —>
(X * Attribute list x FEvent list))
| Parallel of ((X = Attribute list * Event list * Env) >
(X x Attribute list = Event list)) list
| Null
| Name
type Object =
(X * Attribute list * Event list * Env) —> (X = Attribute list * Fvent list)
type ObjectConf = Object * X x Atiribute list
30 type SysConf = ObjectConf list * Event list

041 obMLUOOOOOODOOODOOOOOOOOU
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4.1.3 ObCL 00O 0O

gododododogodgggogodabobobobobobobogboonaon
gbogbduodbooooogbooboobobbouboboobonobnbooooon
gobgobguboduboboboobodbobobobobooboobo..gooo
OO0o00do(coOoooO0)0ooo0ooOooooopoUoooooooooooooo
gubbdgguogbnboguboogunbooobbooobbooubbooubo
goodbodgudoooboogugbooboooboonoobnoobnboaonoo
gobgood.gobbubgbggbbobboububoboobbooboooon
guobgbdubd41100000 ObCL - ObML UOUODOOOOOUODOOUOOOOOO
goooooogbodgbobCLO MLOODOUOODOOOLOOooOoooooooobooobd

opCLUbdubuguboubgbuongobuobuobuoobodabd Stan-
dard ML OO0 OUO0OOO0OOOOODOOOOODOOO0OOOOOd

e MLOOOUOOUOODOODODOODO/OOOOO/OO00D00O0ODOODDDOOOOO
gopooooboboboboooood

e MLOODOODDOOOOOOODO/OOOOO/OODOOODOOOODOoObCLOOO
googd

e JUOOUOOO OBCLOUODOOOUDUOLDODLODLOLODODUODLON

godogbgbobbdbot -toouobdoobolb -bodd -..000000
goudgougoagboubouoobodgbuogbouogoon
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4.2 ObMLOUOUOQO

obML OOUOOODOOODOOoooon

4.2.1 0U0OUOOOOOOOOOO

gooogs20dn0 obCLObonoodooob cbogdnoobooonooon

000000000000 turntbl 0 OO0OO00O (play — pause —» pause) OO 00O
O00Oturntbl DO O OO0, led 00000 0O0OOD0O0OOOOOOOOOOOOOOO
googguogboogboboobobouoaoboo

— ppSystem( system’ [turntdl] [ [L.[].[(“button.play” [])].
[(“button.pause” [])],[( “button.pause” [])]] 7):
Step:0
turntbl:Initial,()
Step:1
turntbl: State s_stop,()
led. disp_msg(msg=0)
Step:2
turntbl: State s_stop,()
button.play
Step:3
turntbl: State s_play,()
led.disp_msg(msg=1),button.pause
Step:4
turntbl:State s_pause,()
led. disp_msg(msg=2),button.pause
Step:5b
turntbl: State s_play,()
led. disp_msg(msg=1)

Step:6
turntbl: State s_play,()
val it = () : unit
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4.2.2 OU00OO00bOOo0OoOO0bOoOoobOd

godits2db obCLUdbgbubgbg ecbuuuguuuunobuoooogn

gbooggoooobbogbobodobdodl LCbU”PAUSE” DU LUUOODOUOooy
gbogboboboooggbosMLUODOODODODLDODOODLDODObLODLOn
ERERE

. ggboodoboboboguobdod LEbO”PAUSE” OO OLODOODOODOOO
goggoooooboMLboooobood

2. 00dboobooboobooboMLgbbogboooonoon

Jo00odboboboboobobboibdbibdooboonbdbdUsearchEv O
O000Oeventlist OO OOOevent list OO0 O0OO0OODOOOO0OOOOOO
U000 Osysevlist U U U Osystem configuration U 0 event list list U OO 00 OO0
goog

(* system configuration 0 O event list list 0O O0000O x)
fun sysevlist [] = []
| sysevlist ((objconf.es):ss) =

es::sysevlist ss;

(0000000000 0000000 LCDO “PAUSE” OODOODO
O0000000000000000 %)

10 (*20000 inplay,instop 000000000 =)
fun checkl ss =
let

fun checkev ("LCD_FIELD.disp_msg",[("message",String "PAUSE")]) = true
| checkev ("BUTTON_FIELD.play"[]) = true
| checkev ("BUTTON_FIELD.stop",[]) = true
| checkev _ = false;

fun instop ([]:Event list list) = true
| instop (e:es) =

case (searchEv checkev e) of

20 ("BUTTON_FIELD .play",[]) => inplay es
| ("LCD_FIELD.disp_msg",[("message",String "PAUSE")]) =>
false
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30

| - => instop es
and inplay ([]:Event lLst list) = true
| inplay (e:ies) =
case (searchEv checkev e) of
("BUTTON_FIELD.stop",[]) => instop es
| - => inplay es
m
instop (sysevlist ss)

end;

i

(+x000o0O0ooooooooooooo
LCD O “PAUSE” O0OO0O0OOCOOOOOOODOOOOOOO %)

— checkl (system' [CD_PLAYER_cd_player_panel]
[[1.[(*BUTTON_FIELD.play" [])],[(* BUTTON_FIELD.pause" [])],
[("BUTTON_FIELD.play" [])]] 5);

val it = true : bool
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4.3 U0OOOOOOOO

gboogbbodbogoboouboguoguo opCLudbuobuoobounooun
gogbdgbuobobobbgobobobobobuobobb sobobuobooan
ObCL - ObML OO0O0OOOOOOOOOOOOUDODOObO00bLOouonboobCL
gobobdodboobbbgogbb oo ouoooboboboboooo
gboodggboodgbobdobbboudo4r3gboody obCL ooy
oot Standard ML OO 0O0OO0O0OOOO0OOO0OOOO0OOOOOOOO
obCLUDUObOUbDOObOobobbobobobobuooboboboboooogon
gbogbdboboboobbogboobobobobobooooobonooogn
gudboodgoagooagoogd

godbogdbdbooobouboobuboboboboboob 42b0040ag
gobgubodgbubouboobbooobboboobougobobboobboon

.- > OoOoonO < ——

1
DDDDDD DDDDDDDDD DDDDDDD ooooon
goooo oon

\\

oono
goo
________ gogoboooooo —DDD
goo

ooooooo

=

U042 000googood

gbodbdbbdgoooubobobooboobobobobooboobbobogn
gbodbdodbooogonbogboobouboboobobobonoboooooogn
googoogon

oo 4300000000000 000000O0O0O0O0D Timer DO OOOOU
timeout JUUOU D Buzzer UO U O OO OOOODOOOOOOOOOODOODOOO
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gooobdao
oo/ cboooog

T~ _ _BuzzerOTimerO OO OODOO
- = -~ - T T TOo000o0oooooooon

SetTimer
(cnt,callback)

oooogo
oO/0000000

U 43: 0000000000000 boo0booooonoonn
UOUOUOTmer U OUOOOODOOODOOOOLOOOOOOOOOO

1. SetTimer O UOOOUOOUODOOO0O0O0OO0DODO callback UOOOOOOOOO

2. SetTimer U U DO UUOOOOODOOODO callback UOOOOOONO

3. ClearTimer U callback U OO UOOOOOOOOOON.
J0000000b0000 DO00O00 Buzzer OO OOOOO timeout OO0 OO
goudbudbbobgdbooubodbd Tmer U000 gobogoogooy
goddoodboooboouoouooobooo

0o0o0doooooooooooooogoooooooooo

e DD UODOODOOO

e UOUODUOOUOODLODODOOOODOODO

e OO DOODOODODDOOODDOOOODOODOOO

e U UODOUOODLDOODLOODLOO
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opCLUbLUOgugbooubogbogobobobobboouboubouogouon
gooo

4.4 ObCL Workbench

gbgooduuodbgoudod Sstandard ML UOD OO DODOOOOoooooy
O00O0O00000O0ODOOO0000ooDOO/OO000o00oobobooObOboooOoo
goboodb 440 000000000 ObCL Workbench OO OOOODOOOMNO
U ObCL Workbench U O U O OO OO

e Standard ML DU OO ON

MLOOOOOOooDoooooo

ObTS/ObCL OO OOOOOODOO

e U DDLOUODLOODLOODOODLO

OO0000ooog/oooooo

O0000/000/000000000

Target System Description

User Extension

:-ObCL Workbenc

ObCL Interpriter | ObCL Simulator [ ObCL Test Bed f:

Standard ML N.J.

Unix-like Platform Windows Platform etc.

O 4.4: ObCL Workbench OO dQd
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1 50

HENREN

0000 ObCL/ODML OO00O0OODODOODODOOOOO00O0
goooguboobdob ecp-KT1 ODOoooooooooood

5.1 000 CP-KT1OUooogoooooouoood

00000000000 0O0000oooooooooooOo/obobbo0oooooon
gobbotgbgodbbogobboooobbobbooobooonboodobo
gougodauobbt ecp-KT1 udoououougboobogoaubooo
googbuuooubooubooooon

gobubgbdbdogogubouogbobgoooobobobobgobn

e 0000000 (00O0DOD0OOD0)

e 000000 (DODOOODO)

e« 0000000000000 OO (000000)
00000000000000

D00000000000000000000000000000000000000
0000000000000000000000000000000000000000
0D000000000000000000000000000000000000000

godbdbbdbogbobooboobbonbobobobobbbobooobn
gbhogbotgboooboboogogbogboobodgoouon
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goodbboooguboguboouoobooood

e CP-KT1UDOUODOU
e CP-KT1 UL DLOOULOOUOOO
e CP-KT1UDOUODOU

gooogod

googogoo

ooobdagobagod

goo-ogoobooobooobogbono

goodgbotuooubooobotdn sgboodgoood

5.2 0O0O0OO

O0000000000000 OOSE[I0)obooboboboooooooobboooD
guobgobboobbobboboooubodbgdibbusecase O 0O0OOOOOMNO
0000000000000 00O0O0OOSED wse-case 0000000 /0000000O0O
gobgbuoogouoooobonood

googbouoguoguoooogbod

1. gogooggo

googod

(a
(b doddogodooooon
(c) use-case 0 OO

(d) OO0 0O0OO00bObOOoOoooboooood

)
)
)
)
2. 00000000

() 00000000000
(b) 00000000
(c) 000000000000
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(d)y obTS DO OOOOO

3.0bCcLOguogn

4. ObCL/OPMLOOOODODODOO

gobogboboggbbooguboogbd cubbubuuod pogood
guud EdobCLOOUOUbOd FOORMLUOOOOODOO
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5.3 ObMLUOUOUOUOOOOOOOON

5.3.1 UU0U0U0oooooooououon

0000 we-case U DU OODOOODODODOODOOOOOOOOOOOODOOODO
gogbodoguboubaod

1.52000000 OopCLOOOO4.1.1 00000 ObCL -~ ObML OUOODOO U
gob oML OUODUOOOOOO

2. we-case U D UOODOOOOOOOOOOODOOODODLDODOODLDOOODO
3. Standard ML U O UO0O0O0O0O00OUODOOOOOOO ObMLUOODO OOOOOO

4. Dogbooboobooboboobobobobooooo

OUO0ODOuwse-case U U OODOODOO0OUOOOOOOUOOOOODOOOOOOOOOO
gobobbodddd we-case UUDDOOUOOOODOODOOOOOOOOOOO
bbb ooooobboabbo
bbb oooguog sobgnboobooobboo
O0O00O0system’ U0 O O0OUOO0OOOOOOOO0O0O0OO0OOOOOOOOOOO
gogobobobbboobooboo r1obbouobodobooboobooboonoo
gobdooboobobobobobobogbobobobobounboeG --- o
UU0OppSystem U OO UDOOUOOUOOODOOODO0OLOODOOOOODOOOOOO
goodgg
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10

20

30

(00000 - 0000000 -0000 -00000 -00000 %)

ppSystem ( system' [Sys_op_panel]

[

(1.

(1.

[(" Tm.2400m ™" [])],
(1,

(1.

0000000000000 0000000 #)
(xpanel OO0 OO0 OOOO0OOO %)
(*400ms OO0 OO0O0O0DODOO0O %)

(* Cm.Send %)

(* Pp.Send, Tm.ols_Start *)

[("Pp.Ack".[("param2",Int 0x01),("param3",Int 0x00),("params" Int 0x24),

(1.
(1,
[(" Tm.2400m ™" [])],
(1,
(1.

("paramb",Int 0x24),("param6",Int 0x24)])]
(* Cm.Ack, Tm.ols_Stop *)
(* St.Wait, Ms.Size “00 0000 O7%)
(+400ms 00000000000 #)
(* Cm.Send %)
(* Pp.Send, Tm.ols_Start *)

[("Pp.Ack".[("param2",Int 0x02),("param3",Int 0x00),("params" Int 0x24),

(1.

(1.

(1.
[("Key.Start",[])].
(1

(1.
[("Pp.Ack".[])],

(*...00 ... %)

(1.
(1.
(1.

(1
] 100 );

("paramb",Int 0x24),("param6",Int 0x24)])],
(* Cm.Ack, Tm.ols_Stop *)
(* St.Standby, Ms.Standby “00 0000 O”%)
(* Tm.o60s_Start, Ms.Count ,Ms.Select *)
00000000000 0OO0OOooOg %)
(* Cm.Send x)
(* Pp.Send, Tm.ols_Start *)

(* Cm.Ack, Tm.ols_Stop *)
(* St.Standby, Ms.Standby, Tm.i200m_Stop “00 00 00O O7x)
(* Tm.o60s_Start, Ms.Count, Ms.Select *)
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O000D0000D00ODO0O0000DO0000DO0O Step:0 00 Step:ho DO 0700/
gobdbd i oguogogboggbobooooobogoogboanooon
gobbogbbbdgobootbooboooonboboobooobbobobn
oy

Step:0
Sys_op_panel:Initial ()
Step:1

Sys_op_panel:Parallel [Sys_op_panel_copy_ctrl Sys_op_panel_status_ctr
Sys_op_panel_timer_ctrl Sys_op_panel_key_if Sys_op_panel_lcd_if
Sys_op_panel_comport_if Sys_op_panel_cur_settings
Sys_op_panel_def_settings] ()

Sys_op_panel_copy_ctrl:State S_ready (key_input_start_flag=0)

Sys_op_panel_status_ctrl:State S_ready (current_paper_select_position=1
current_paper_count=1 default_paper_select_position=1
default_paper_count=1 tray_bottom_old=255 tray_middle_old=255
tray_top_old=255 copy_sub_status_old=0 copy_status_old=0)

Sys_op_panel_timer_ctrl: Parallel [Sys_op_panel_timer_ctrl_tm_400m_ctrl
Sys_op_panel_timer_ctrl_tm_200m_ctrl
Sys_op_panel_timer_ctrl_tm_60s_ctrl Sys_op_panel_timer_ctrl_tm_1s_ctrl]
()

Sys_op_panel_timer_ctrl_tm_400m_ctrl:State S_off ()

Sys_op_panel_timer_ctrl_tm_200m_ctrl:State S_off ()

Sys_op_panel_timer_ctrl_tm_60s_ctrl:State S_off ()

Sys_op_panel_timer_ctri_tm_1s_ctrl:State S_off ()

Sys_op_panel_key_if :State S1 ()

Sys_op_panel_lcd_if : Parallel [Sys_op_panel_lcd_if mess_lcd
Sys_op_panel_led_if_psel_led Sys_op_panel_lcd_if_pent_led
Sys_op_panel_led_if_jam_led] ()

Sys_op_panel_lcd_if_mess_lcd:State S1 (nak_code=0
message="000000000000")

Sys_op_panel_lcd_if_psel_lcd:State S1 ()

Sys_op_panel_lcd_if_pcnt_lcd:State S1 (count=1)

Sys_op_panel_led_if_jam_led:State S1 ()

Sys_op_panel_comport_if :State S_ready ()

Sys_op_panel_cur_settings:State S1 (paper_select_position=1
paper_count=1)

Sys_op_panel_def_settings:State S1 (paper_select_position=1
paper_count=1)

Tm.i400m_Start Si.CurrentChange(paper_count=1 paper_select_position=1)

41



40

Si. DefaultChange (paper_count=1 paper_select_position=1)
Step:2

. 00O
Step:50
. 00O

val it = () : unit
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5.3.2 UUUU0UUooobbodboooboboobgbog

godtbbgbuogogoobobobbboobooboboboooooboadgo
bbb uuoubbobibddeopyctrl DO OO
gbobobuobbooubobobobbboobdg sotugbuougbbobouonog
OO00system’ D00 O0OO0OOO0O0O0OO0OOOOOOOO0OOO0OOOOOOOOO
ppSubSys U U UOOUOOUOOODLODOOUOOOOUOouooouuoooogooon
guddboodbuobogogbuogboubooboobonboo

(00000 - 0000000 -0000 -00000 -00000 %)
(* Sys_op_panel_copy_ctrl 0O O0O0O00O00 %)

ppSubSys ( system' [Sys_op_panel]
[
(1. (*x 000000000000 O0OOoOoooO «)
(1. (*panel DO OO0 OOOODOOO %)
[("Tm.i400m™,[]] (*400ms D OO 0OOOO0ODOOO %)

(*...00 ... %)

(1. (* St.Standby, Ms.Standby, Tm.i200m_Stop *)
[1. (* Tm.o60s_Start, Ms.Count, Ms.Select )

[l

] 100 )

[Sys_op_panel_copy_ctrl]; (x D0 000000000 00000000O0OO #)
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O000D0000D00ODO0O0000DO0000DO0O Step:0 00 Step:ho DO 0700/
gobgbb220000000000000000 copyctrl DUOODOOODODOOOMO
gobgbobotdbodguouuobouboonbbboobobbobbooooo

Step:0
Step:1
Sys_op_panel_copy_ctrl:State S_ready (key_input_start_flag=0)
Tm.i400m_Start Si.CurrentChange(paper_count=1 paper_select_position=1)
Si. DefaultChange (paper_count=1 paper_select_position=1)

I

Step:50
Sys_op_panel_copy_ctrl:State S_ready (key_input_start_flag=0
current_paper_select_position=1 current_paper_count=1
default_paper_select_position=1 default_paper_count=1)

val it = () : wnit
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54 UO0OOUOOOOO

5.4.1 0000 ObCLUOUOOOOO

00000000 ObCL/OBPDML OOOOOOOO 51 000000000ObBML O
OO00O0000 9837 0000 OO0DO0OOOoODOOOO ro0/O0O0O0O0ODODOO
e Ui ubooouon sobogo o
O0D000000000D0O0DO0ODO200877000000000O0O0O/000O0
gooobd 185 000o0oo

good 18
googogon 17
googod 7
gobogougn 16
gooon 58
gog 34
googo 153
opbCLUOOO g 3359
ObML U OO OO 915

Us1: 0000t obCL g

5.4.2 0OU0O0O0O0OOO0O0OO

obCLUOUObOuoogoon eodbgbgbnonogng oprsuobogon
gobogubogbogboobgoboobooopTstobbouboguobiud ObCL
0000000000000 (transition 00000000 0OCOOOO)O0000O0O

googoog

OO0O0Ouse-case O U0 UOOOOOOOO0OODOOODOOODOODOOOOOODOOO
JUod Copy Control UHIUUDOUOUOOUOOOOODOOOOO ULOCopy_Control U
god obCLUOOUOUOUODOUbouUbbudn TeOUOUOO Sready UOUOUOOOOU
gubbogdboodbobobobddbbesgbogoooboono
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googouogbob bbb TrodAck 0o ooooooogon
gobd Tre2dodooodouboooboooobooobuobeosbdponboon
oodboguoogoon Sxeady U0 OO0 oo

class

Copy_Control

T6 is
source
S_ready
input
10 Key.Reset or Tm.o60s
do
Cm.Send.cid := CID_Reset;
Cm.Send.clen == CLEN_Reset
destination
S_reset
output
{ Cm.Send, Tm.o60s_Stop }
end;
T7 is
20 source
S_reset
input
Cm.Ack
destination
S_reset
end;
T7 2 is
source
S_reset
30 input
St.Stanby
do
current_paper_count = default_paper_count;
current_paper_select_position = default_paper_select_position
destination

S_ready
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output
{ Tm.o60s_Start, Ms.Count, Ms.Select }
end;

40

end —— Copy_Control

googuoggoobTsuoudn sabdguubgbooonboonn 520
gbobogogboobdbdo obCLbgbubgboooouobubobooogd

4 copy_ctrl : Copy_Control h
Key.Reset or Tm.060s
/ Cm.Send, Tm.060s_Stop
Sready [ Cm.Send.cid := CID_Reset;
Cm.Send.clen := CLEN_Reset ]
S Sandby S| r
/ Tm.o60s_Start, Ms.Count, Ms.Select CmAck
[ current_paper_count
:= default_paper_count;
current_paper_select_position
:= default_paper_select_position]
- J

O 51: 000000000 ObTSOODOO (copy_ctrl:Copy_Control) O 0O O

Doboboooooogooboboboodgaoooooobobogoboooboobooog
gbhbbobooddudddodddddbooooooooooogaooooooon
ObML O0O0OO0OO0OOOO00000000O0O00000

O0000000000000000 (status_ctrl:Status_Control : OO E O ObCL
O0000 D41 obrsgnonoooono)booooooooooboooooooonon
gbhbodbobodabobobbobobodobbgdooogaoooooooooooon
gbhobbddooodoooooobobooobobobbbobboboobooooooagaaod
Oooooboooooobooobobooboboootboooooooooooggoon
gooogoooobbooooooooobooboooooooboboobooooooon
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5.4.3 0U0OUOO0OOOO

obCLOO0OO00O0DOO0O0OO0ODOOOOODObODOOoOoObOODOObO0OObDO0OO
ODOoooOO0boooooooooooooboOobooboobooooooboooobooooDooooDo
OO00obCLOOO0OO0O0O0O00O0DO0000000O00O000O0b0O00000O0OO0
J000000dobobdnn Default Setting U0 OO Current_Setting 000 00O O
ODO0o00DO0o0o0O0ooo0ooooboooDboboOoooooooO0ooO0oboDOoboboOooboO
OO00o00O000O00bobOO0o0ooooboobooooobDOoOobooDOoO

Oooooooooobooboooooooooooobobooboooooboobooooo
ODOO00oooOo0O00000bo0ooooooboobooooboO 3 000obouoon
O0000000000000D00 NewOOOOOOOOoOMTSOOOOOOOOOO
0 Key.In[Key.In.code = 20|/ Key. New 0000000000000 0O0DO0O00OCDO
ODO0O0ooO00oDbOOoOoooOo0OOo0ooooooOoOoooooboOoobooon

4 N

new_key if : New_Key_Interface inherit Key_Interface

Key.In[ Key.In.code= 20]
/ Key.New

Us53: dbuduudbouubouuoaubouoa
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godogdbodbobdbognuooubbooobobobobbboobboogo
goggbodbdbuob—-gboboouobububobobo—-=boboboogn
guogbgobgbugobobboobooboobougboobooboobooan
gogdboboobtgbobbotoboubbooooboobbobooboobobn
guodbodbodgbodobodgbgbgbouobouobgnooouoobnbooooo
gobbdbodbobooouobooboboboobobbobonobnooooobbo
gobgubdggogubouboobobbobboboboboobbbobooon
guobguobdubdblusecase UUDUODODOLODODOLOOODLDODOOOODLOOOO
gooooo

gododgoodboboboobogooobobooboobbbooobbooooa
gogbboodoboobgogbbgooboboboboouboubobobboon
guobgboboboobouboboubouboobbuoobooobadg s4a0bgog
O00000 (GetStatus) 0000000000 0CO00OO0OCODOOOOOOODODOOO
ERERE

gogogbogbgbobooboboobbobuooboooboobnboobooooon
gudbdboboboubouboobooudooooboobbboboooboobooba
gbobguobogubguobobbooubobbobooobuoboboobboooboboon
goobgobobogbogobbooogboboobodbobbogobboo
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and counter > 3]
/ Pp.Ack
/[ counter := 0] [ Pp.Ack.paramé
:= CP_STATUS STANDBY;
|

S wait " \ S ey
7 {1

Ve
dummy_ctrl : Dummy_Controller Pp.Send

Pp.Send Pp.Send
[ Pp.Send.cid = CID_GetStatus] [ Pp.Send.cid = CID_GetStatus]
|/ Pp.Ack | Pp.Ack
[ counter := counter + 1; [ Pp.Ack.paramé
Pp.Ack.paramb := CP_STATUS STANDBY;

:= CP_STATUS WAIT; e ]
|

Pp.Send
[ Pp.Send.cid = CID_CopyStart ]
/ Pp.Ack

S_copy\

Pp.Send
[ Pp.Send.cid = CID_GetStatus]
/ Pp.Ack
[ Pp.Ack.param6
:= CP_STATUS COPY;
-1

Us54: 0J0O00booooooobogan
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A.4.1 Program

Program := ( ( Indexing )?
( Class_declaration
| Field declaration

| Event_class_declaration )

)x EOF
A.4.2 Indexing
Indexing := indexing ( Index list )?
Index list ::= Index clause (”;” Index_clause )x
Index clause ::= Index ( Index_term ( ”,” Index term )% )?
Index ::= Identifire ”:”
Index term ::= Identifire | Manifest_constant

A.4.3 Class_declaration

Class_declaration ::= Class header ( Parent )? ( Features )? end

A.4.4 Class header

Class_header ::= class Class_name

A.4.5 Class_name

Class_.name ::= Identifire

A.4.6 Class Inheritnce

Parent ::= inherit Class_name

68



A.4.7 Features

Features = ( Fields_ref )?
( Attributes )?
( States )?
( Inners )?
( Creations )?
( Operations )?
Transitions
A.4.8 Fields ref
Fields ref ::= field ( Field ref list )?
Field ref list ::= Field name ( 7,” Field name )x
Field name ::= Identifire
A.4.9 Attributes
Attributes = attribute ( Attribute list )?
Attribute list = Attribute name ( ”7,” Attribute name )x
Attribute_name ::= Identifire
A.4.10 States
States = state ( Statelist )?
State list ::= State name ( ”,” State name )x*
State name ::= Identifire
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A.4.11 Inners

Inners := inner ( Innerlist )?
Inner list = ( Inner_declaration_group_ list )+
Inner_declaration _group list ::= Inner_declaration_group
( 7;” Inner_declaration _group )x*
Inner_declaration _group := Identifire ( ”,” Identifire )* ”:”

( Class_name

| 7{” Inner_declaration_group_ list ”}” )

A.4.12 Class mark

”

Class_mark ::= :”7 Class_name

A.4.13 Creations

Creations ::= creation ( Creation operation name list )?

Creation_operation_name list ::= Operation_ name ( ”,” Operation name )

A.4.14 Operations

Operations ::= operation ( Operation declaration list )?
Operation_declaration list ::= Operation_declaration
((7;”)? Operation_declaration )x

A.4.15 Operation_declaration

Operation_declaration ::= Operation_name ( Operation_argument list )?
( Type_mark )? Operation_value mark

Operation_value_mark ::= 1is ( Manifest_constant | Routine )

A.4.16 Operation_argument_list

Operation_argument_ list ::= 7 (” Operation_arguments ”)”
Operation_arguments ::= Operation_argument ( ”;” Operation_argument )x
Operation_argument = ( Identifire ( 7,” Identifire )% ) ( Type_mark )?
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A.4.17 Operation_name

Operation name := Identifire

A.4.18 Entity_declaration_list

Entity declaration list ::= Identifire ( ”,” Identifire )*

A.4.19 Type_mark

Type mark := Class_mark

A.4.20 Routine

Routine ::= ( Local declarations )? Routine body end

Local declarations ::= local ( Entity declaration list )?

A.4.21 Routine_body

Routine body := do ( Compound )?

A.4.22 Compound

Compound ::= Instruction ( ”;” Instruction )x

Instruction ::= Assignment | Conditional | Loop | Call

A.4.23 Boolean_expression

Boolean _expression ::= Expression

A.4.24 Assignment

Assignment ::= Writable ”:=" Expression
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A.4.25 Call

Call ::= ( Parenthesised qualifier )7 Call chain
Parenthesised _qualifier ::= Parenthesised ”.”
Call chain := Unquantified call ( ”.” Unquantified call )x

A.4.26 Unquantified_call

Unquantified call ::= Operation name ( Actuals )?

A.4.27 Actuals

Actuals = 7 (" Actual list 7)”
Actual list = Actual ( ”,” Actual )x
Actual := Expression

A.4.28 Expression

Expression := ( Unary Expression
| Parenthesised
| Call
| Local
| Constant )
( Expression_d )?

Expression.d := ( Comparison | Binary ) Expression ( Expression_d )7

A.4.29 Parenthesised

Parenthesised ::= 7 (” Expression ”)”

Comparison == 7="|7/="

A.4.30 Unary

Unary = not | RRFRY | ” _"
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A.4.31 Binary

Binary

A.4.32 Conditional

Conditional
Then_part _list
Then_part

A.4.33 Else_part

Else_part

A.4.34 Loop

Loop
Loop_initial
Loop_body

Exit_clause

A.4.35 Constant

Constant

Constant_attribute

77+77 | n_n | 77*77 | 77/77
| 77<77 | 77<:77 | 77)77 | 77>:77

| M~

| and ( then )? | or ( else )? | xor

if Then part list ( Else part )? end
Then_part ( elsif Then part )x

Boolean _expression then Compound

else Compound

Loop_initial Loop_body end
from Compound
Exit_clause loop Compound

until Boolean _expression

Manifest_constant

Identifire

A.4.36 Manifest constant

Manifest_constant

Boolean_constant

Boolean constant

| Manifest_string

| Integer_constant

| Character_constant

true | false
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A.4.37 Sign

Sign — ” +7) | n_n
A.4.38 Manifest_string
Manifest _string ::= String literal

A.4.39 Integer_constant

Integer_constant = ( Sign )? Integer

A.4.40 Integer

Integer ::= Plain integer | Delimited integer

A.4.41 Character _constant

Character_constant ::= Character_literal

A.4.42 Writable

Writable ::= Identifire | result

A.4.43 Local

Local ::= Identifire | result

A.4.44 Transitions

Transitions ::= transition ( Transition declaration list )?
Transition_declaration_list ::= Transition declaration
( (7;”)? Transition_declaration )x*
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A.4.45 Transition declaration

Transition_declaration ::= Transition_name Transition_value_mark
Transition_name ::= Identifire
Transition_value_mark ::= 1is Tratisition_routine

A.4.46 Transition_routine

Tratisition_routine ::= Source_clause
( Transition_routine_body )?

Destination_clause end

A.4.47 Source_clause

Source clause = source ( init | State name ) ( Source_body )?

A.4.48 Source_body

Source_body := input Event list ( when Boolean expression )?

A.4.49 Transition_routine_body

Transition routine_body ::= ( Local declarations )? Routine_body

A.4.50 Destination_body

Destination_clause := destination State_name ( output Event list )?

A.4.51 Event list
Event list ::= Qualified _event_ name
(”,” Qualified_event name )x
Qualified_event_name ::= Field_.name ”.” Event_name

Event name ::= Identifire
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A.4.52 Event class declaration

Event_class_declaration ::= Event_class_header
( Event_class_parent )?

( Attributes )?

( Operations )?

end
Event_class_header ::= event Event_class_ name
Event_class_ name ::= Identifire

A.4.53 Event Inheritnce

Event_class_parent ::= inherit Event_class_.name

A.4.54 Field declaration
Field _declaration ::= Field_header

( Included_events )?

end
Field header := field Field name
Included events ::= event ( Event_declaration list )?
Event_declaration list ::= Event_declaration_group

((7;”)? Event_declaration_group )x

A.4.55 Event_declaration_group

Event_declaration _group ::= Event name
(”7,” Event_name )x Event_mark

Event_mark ::= 7:” Event_class_.name
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op_panel : Operation_Panel

S init

Copy_ctrl : Copy_Control ] Cey_if: Key_Interface

ur_settings : Current_Settings

Ctatus_ctrl : Satus_Control ] Ccd_if: LCD_lInterface

J(
)(

ef_settings: Default_Settings

Cimer_ctrl : Timer_Control ] [comport_if: ComPort_Interface

.

0 D.39: ObTS OO OO (op_panel:Operation_Panel)
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/copy_ctrl : Copy_Control

S.Sandby
/ Tm.060s_Start, Ms.Count, Ms.Select
[ Ms.Count.counter
1= current_paper_count;
Ms.Select.current
:= current_paper_select_position]

S.CurrentChange
/[ current_paper_count
:= S.CurrentChange.paper_count;
current_paper_select_position
:= d.CurrentChange.paper_select_position ]

/[ key_input_start_flag:= 0]

S ready.

\

Key.Reset or Tm.060s
/ Cm.Send, Tm.o60s_Stop

/

S.DefaultChange
/[ default_paper_count

:= 9.DefaultChange.paper_count;
default_paper_select_position

:= 9.DefaultChange.paper_select_position;
current_paper_count

:= S.DefaultChange.paper_count;
current_paper_select_position

:= S.DefaultChange.paper_select_position ]

S.Sandby

S.Sandby
/ Tm.o60s_Start, Ms.Count, Ms.Select
[ Ms.Count.counter
= current_paper_count;
Ms.Select.current

= current_paper_select_position] S.Sandby

/ Tm.o60s_Start, Ms.Count, Ms.Select

[ Ms.Count.counter Cm.Send.param3
1= current_paper_count; 1= current_paper_count;
S stop2 S stopl Ms.Select.current B Cm.Send.param4
1= current_paper_select_position ] 1= current_paper_select_position ]
Cm.Ack:
Key.Sop
Key.Stop / Cm.Send
/CmSend [ Cm.Send.cid := CID_CopyStop;
[ Cm.Send.cid Cm.Send.clen := CLEN_CopySto)
(¢ P
:= CID_CopyStop; Key. S0 S copy S startl
Cm.Send.clen /g,n.SeEd
:= CLEN_CopyStop] I Cﬁw.Sen dcid
:= CID_CopyStop;
Cm.Send.clen

:= CLEN_CopyStop ]

S.Copy_Empty

Key.Sart

/ Cm.Send

[ Cm.Send.cid := CID_CopyStart;
Cm.Send.clen := CLEN_CopyStart ]

Cm.Ack

[ Cm.Send.cid := CID_Reset;
Cm.Send.clen := CLEN_Reset ]

/ Tm.o60s_Sart, Ms.Count, Ms.Select
[ current_paper_count
:= default_paper_count;
current_paper_select_position
:= default_paper_select_position]

Cm.Ack

default_paper_count
default_paper_select_position
current_paper_count
current_paper_select_position
key_input_start_flag

Key.Select
/ Cm.Send, Tm.060s_Stop
[ Cm.Send.cid := CID_GetTraylnfo;
Cm.Send.clen := CLEN_GetTrayinfo ]

S select

Tm.060s_Start, Ms.Count, Ms.Select

[ current_paper_select_position := Cm.Ack.param2;
Ms.Select.current := Cm.Ack.param;
Ms.Count.counter := current_paper_count ]

Key.Start
/ Tm.o60s_Stop, Cm.Send
[ Cm.Send.cid := CID_Printer Setting;
Cm.Send.clen := CLEN_Printer Setting;
Cm.Send.param?2 := 0;

Cm.Ack
/Cm.Send
[ Cm.Send.cid := CID_CopyStart;

S start2 Cm.Send.clen := CLEN_CopyStart ]

O D.40: ObTS OO OO (copy_ctrl:Copy_Control)
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timer_ctrl : Timer_Control

/tm_400m_ctrl : Timer_400m_Interval A /tm_GOS_ctrI : Timer_60s_Timeout )
Tm.o60s_Start S on
Tm.i400m Start Tm.i400m _interval .
S off / Tm.i400m
S off Tm.o60s_Stop
\ Son Tm.o60s_interval
Tm.i400m_Stop / Tm.060s
o 2N /)
/tm_200m_ctrl : Timer_200m_Interval A /tm_ls_ctrl : Timer_1s Timeout A
Tm.ols Sart Son
Tmi200m Sart  Tmj200m interval .
S off / Tm.i200m
S off Tm.ols_Stop
\ Son Tm.ols interval
Tm.i200m_Stop / Tm.ols
o AN J

0 D.42: ObTS OO OO (timer_ctrl:Timer_Control)
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-

key_if : Key_Interface

Key.In[ Key.In.code = 12]
/ Key.Start

Key.In[ Key.In.code= 13]
Key.In[ Key.In.code= 11] / Key.Sop
/ Key.Reset
Key.In[ Key.In.code= 14]
/ Key.Sdlect
Key.In[ Key.In.code= 10]
/ Key.Clear
Key.In
[ Key.In.code >= 0 and Key.In.code<= 9]
| Key.Number
[ Key.Number.code := Key.In.code]
-
0 D.43: ObTS OO OO (key if:Key Interface)
/ch_if: LCD_Interface )
[m&es_l cd : Message LCD ] C)cnt_lcd : PaperCount_LCD]
C)sel_lcd: PaperSeIect_LCD] [jam_lcd :Jam _LCD ]
- J

0 D.44: ObTS OO OO (led if:LCD Interface)
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comport_if : ComPort_Interface

Cm.Send
/ Tm.ols Sart, Pp.Send
[ Pp.Send.cid := Cm.Send.cid;
S ready Pp.Send.cid := Cm.Send.clen;
Pp.Send.param2 := Cm.Send.param2;
Pp.Send.param3 := Cm.Send.param3;

Pp.Send.paramé4 := Cm.Send.paramé | Pp-Nak

/ Tm.ols Sop, Ms.Nak

[ Ms.Nak.info := Pp.Nak.param?2 ]
Pp.Ack
/ Tm.ols Stop, Cm.Ack \

[ Cm.Ackrid := Pp.Ack.rid;
Cm.Ackrlen := Pp.Ack.rlen; S wait S nak
Cm.Ack.param2 := Pp.Ack.param2;
Cm.Ack.param3 := Pp.Ack.param3;
Cm.Ack.paramd := Pp.Ack.paramd;
Cm.Ack.param5 := Pp.Ack.params;
Cm.Ack.paramé := Pp.Ack.paramé; Tm.ols
Cm.Ack.param7 := Pp.Ack.param?; / Tm.ols_Stop, Ms.Timeout

Cm.Ack.param8 := Pp.Ack.paramg;
Cm.Ack.param9 := Pp.Ack.param9; S timeout
Cm.Ack.paramA := Pp.Ack.paramA; —

Cm.Ack.paramB := Pp.Ack.paramB ]

O D.45: ObTS OO OO (comport_if:ComPort_Interface)

~

cur_settings : Current_Settings paper_count
.\ paper:select __position
/ S.CurrentChange
[ paper_count := 1;
paper_select_position := 1;
S.CurrentChange.paper_count := 1;
S.CurrentChange.paper_select_position:= 1]

S.SetPaper Count
/ 9.CurrentChange
[ paper_count := S.SetPaper Count.paper_count;

\/ S.CurrentChange.paper_count := S.SetPaper Count.paper_count;
S.CurrentChange.paper_select_position := paper_select_position]
S.SetPaperPosition

/ S.CurrentChange

[ paper_select_position := S.SetPaper Position.paper_select_position;

S.CurrentChange.paper_count := paper_count;
S.CurrentChange.paper_select_position := S.SetPaperPosition.paper_select_position ]

O D.46: ObTS OO OO (cur_settings:Current_Settings)
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-

def_settings : Default_Settings

0\
/ S.DefaultChange
[ paper_count := 1,
paper_select _position := 1;
S.DefaultChange.paper_count := 1;
S.DefaultChange.paper_select_position := 1]

~

paper_count

paper_select_position

O D.47: ObTS OO OO (def settings:Default_Settings)

-

mess_lcd : Message LCD

message

.b__\\\\\\ nak_code

/ [message := "0 000000OOOOODO" ]

Ms.Standby / [ message

="00000o0on]

- \ Ms.Copy / [ message := "0 0O0O0OOOOOO"]

| Ms.Stop / [ message :=
\ Ms.Reset / [ message :
Ms.Empty / [ message :

\ Ms.Range / [message := "OO0OOOO 00O 99 OOO"
:="0oo0oooooooooo:

| Ms.Restart/ [message

"oooooooot]
"“ogoooooooot]
"ooooooooot]

| Ms.Nak / [message := "NAK DO OOO™;
! nak_code := Ms.Nak.code ]

Ms.Timeout / [ messag
M

e

:="00000oooooo

0 D.48: ObTS OO OO (messlcd:Message LCD)
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Wait / [ message := "O0O00O0O00O0OOOO"]

|
|

|



/pselilod: PaperSelect_LCD top )
middle
bottom
' current
current := "Top" ] Ms.Jam
// N
N
/ AN
N ~ J
/
_______________ N o
1+ Ms.Select ] . Ms.Size —!
| / [ current := if ( Ms.Select.current = 1 | / [ top = if ( Ms.Size.top = PSIZE_A4 ) |
. then "Top : then "A4 " :
| else (if ( MS-Select.curr1 else ( if ( Ms.Size.top = PSIﬂ
. then "Middle" ! then "B4 "
| else (if ( Ms. Sele1 else ( if ( Ms.Size.top =
! then ' Bottolﬂ then "A4R"
| else ""----- ) else ( if ( Ms.Size.!
| 1 then "A3 " |
—_— - ! else "--=" )));!
| middle := if ( Ms.Size. mlddle = PSIZE_A4 ) |
! then "A4 "
| else ( if (Vs.Size.niddle = PSIZE B4|
1 then "B4 '
| else ( if ( Ms.Size. mlddl|
' then "A4R"
| else ( if ( Ms.Size.
' then "A3 " .
| else "---" )));
. bottom := if ( Ms.Size.bottom = PSIZE_A4 )
| then "A4 ™
else ( if ( Ms.Size. bottom = PSIZE_B4 |
[ then "B4 '
| else ( if ( Ms.Size.bottom = PSIZl
H then "A4R"
| else ( if ( Ms. S|ze|
' then "A3 " '
| else "= ))) |
o i

0 D.49: ObTS OO OO (psellcd:PaperSelect LCD)
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4 .
pent_lcd : PaperCount_LCD
/[ count:=1]
MsJam\
Ms.Count
/[ count := Ms.Count.counter ]
o J

0 D.50: ObTS OO OO (pent led:PaperCount LCD)

4 ] N
pent_lcd : PaperCount_LCD count
/[ count:=1]
Ms.Jam
Ms.Count @
/[ count := Ms.Count.counter ]
o )

0 D.51: ObTS OO OO (jam led:Jam _LCD)

163



1 E [

ot CP-KT1 Uy tn
ObCL 0 U0

googobd bbb ece-KT1uuguboodugugoogood ObCL
gobogoo

—— —%— Mode : o0bel —¥— ——————

——indexing
——  description : "Copy Machine CP-KT1 OJOODOODO.",
- author : "$Author: kuboaki $":
—— date . "$Date: 1998/02/18 10:18:46 $";
——  filename : "$RCSfile: panel.obcl,v $";
- TEVISION : "$Revision: 1.49 $";
——  state : "$State: Exp $"
10 —— Event Definitton - ——————————————— — —— —
event

Paper_Size_Display_FEvent
inherit
generic_event
attribute
top, middle, bottom : Int
end —— Paper_Size_Display_Event
20 event

Paper_Select_Display_Event
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inherit

generic_event

attribute
current : Int
end —— Paper_Select_Display_Fvent
event

Paper_Counter_Display_FEvent
inherit
generic_event
attribute
counter : Int
end —— Paper_Counter_Display_FEvent
event
Nak_Info_Display_Fvent
inherit

generic_event

attribute

mfo : Int
end —— Nak_Info_Display Fvent
event

Jam_Display_Fvent
inherit

generic_event

attribute
posl, pos2, posd : Int
end —— Jam_Display_Fvent
event
Scan_Code_FEvent
inherit

generic_event

attribute
code : Int
end —— Scan_Code_Event
event

Number_Key_Fuvent
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inherit

generic_event

attribute
code : Int
end —— Number_Key_FEvent

—— Command ID constants

—— for Command_Send_FEvent, Physical Command_Send_Event

70 #define CID_GetStatus 0x11
#define CID_PrinterSetting 0x21
#define CID_CopyStart 0x31
#define CID_CopyStop 0x32
#define CID_GetCopyCount 0x41
#define CID_GetTraylnfo 0x42
#define CID_Reset 0xA0

—— Command Length constants
—— for Command_Send_Event, Physical_Command_Send_Event
#define CLEN_GetStatus 0x00
80 #define CLEN_GetErrorInfo 0x00
#define CLEN_PrinterSetting 0x02
#define CLEN_CopyStart 0x00
#define CLEN_CopyStop 0x00
#define CLEN_GetCopyCount 0x00
#define CLEN_GetTraylnfo 0x00
#define CLEN_Reset 0x00
event
Command_Send_Event
90 inherit

generic_event

attribute
cid : Int;
clen : Int;
param?2 : Int;
paramd : Int;
param/ : Int
end —— Command_Send_Event
100 event

Ack_Receive_FEvent
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inherit

generic_event

attribute
rid : Int;
rlen o Int;
param?2 : Int;
paramd : Int;
paramy : Int;
110 paramb : Int;
paramé : Int;
param7 : Int;
param8 : Int
end —— Ack_Receive_Fvent
event

Physical_Command_Send_Fvent
inherit
generic_event
120 attribute
cid : Int:
clen : Int;
param?2 : Int;
paramd : Int;
param/ : Int
end —— Physical Command_Send_FEvent
event
Physical_Ack_Receive_Event
130 inherit

generic_event

attribute
rid : Int;
rlen o Int;
param?2 : Int;
paramd : Int;
paramy : Int;
paramb : Int;
param6 : Int;
140 param7 : Int;
param8 : Int
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end —— Physical_Ack_Receive_Event
event
Physical_Nak_Receive_Event
inherit

generic_event

attribute
rid : Int;
150 rlen : Int;
param2 : Int
end —— Physical_Nak_Receive_FEvent
event

Set_Paper_Count_Fvent
inherit

generic_event

attribute
paper_count : Int
160 end —— Set_Paper_Count_Event
event

Set_Paper_Position_Fvent
inherit

generic_event

attribute
paper_pos : Int
end —— Set_Paper_Position_Event
170 event

Setting_Change_Fvent
inherit
generic_event
attribute
paper_count : Int;
paper_select_position : Int

end —— Setting_Change_Event
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Ms —— Lcd_Field

event
—— for Messeage Part
Wait, Standby, Copy, Stop,

Reset, Empty, Restart, Range : generic_event;

—— for Papaer Size Part
Size : Paper_Size_Display_Event;
190 Select : Paper_Select_Display_Event;

—— for Paper Count Part
Count : Paper_Counter_Display_Fvent;

—— for Jam Display
Jam : Jam_Display_FEvent;

—— Nek DODOOOOO ( debugD )
Nak : Nak_Info_Display_FEvent;
200 —— 00000000000000 ( debugd )
Timeout : generic_event;
—— 00000000000000 ( debugd )

IliState : generic_event

end —— Lcd_Field

field
Key —— Key_Field
event
210 In : Scan_Code_Event;

Number . Number_Key_Fvent;
Clear, Reset, Start,

Stop, Select : generic_event

end —— Key_Field

St —— Status_Field

event
220 —— for Major Status "Waiting"
Wait, Wait_Empty, Wait_Range : generic_event;
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—— for Major Status "Standby"
Standby, Standby_Empty, Standby_Range : generic_event;

—— for Major Status "Copying"

Copy, Stop : generic_event;

—— for Major Status "Jam"

230 Jam : generic_event;

—— for Major Status "Copying-Empty"
Copy_Empty, Restart : generic_event;

—— for Major Status "Reset"

Reset : generic_event

end —— Status_Field
240 field
Cm —— ComPort_Field
event
Send : Command_Send_Event;
Ack : Ack_Receive_FEvent

end —— ComPort_Field
field
Pp —— PhysicalPort_Field
250 event

Send : Physical_Command_Send_Event;
Ack : Physical_Ack_Receive_FEvent,;
Nak : Physical_Nak_Receive_Fvent

end —— PhysicalPort_Field

Tm —— TimerEvent_Field
event
260 —— 400ms Interval Timer Control
1400m, i400m_interval,
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270

280

290

300

t400m_Start, i400m_Stop : generic_event;

—— 200ms Interval Timer Control
1200, 1200m_interval,
1200m_Start, i200m_Stop : generic_event;

—— 60s Timeout Timer Conirol

060s, 060s_timeout,

060s_Start, 060s_Stop : generic_event;
—— 1s Timeout Timer Control
ols, ols_timeout,
0ols_Start, ols_Stop : generic_event
end —— TimerFEvent_Field
field
St —— SettingInfo_Field
event
DefaultChange : Setting_Change_Event;
CurrentChange : Setting_Change_Event;
SetPaperCount : Set_Paper_Count_Event;
SetPaperPos  : Set_Paper_Position_Fvent
end —— SettingInfo_Field
—— Class Definition - —————————————————— ————— —— ————
class
Default_Settings
field
Si
state
S1
attribute
paper_count : Int;
paper_select_position : Int
transition
Start is
source
init
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do
paper_count = 1,
paper_select_position = 1;
Si.Default Change.paper_count = 1;
Si.Default Change.paper_select_position = 1
destination
51
output
310 Si. DefaultChange
end

end —— Default_Settings

class
Current_Settings
field
Si
state
51
320 attribute
paper_count : Int;
paper_select_position : Int
transition
Start is
source
init
do
paper_count = 1,
paper_select_position = 1;
330 Si. CurrentChange.paper_count = 1,

Si. CurrentChange.paper_select_position = 1
destination
51
output
St. CurrentChange
end;
T1 is
source
S1
340 input
Si.SetPaperCount
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do
paper_count = Si.SetPaperCount.paper_count;

St. CurrentChange.paper_count = Si.SetPaperCount.paper_count;

§i. CurrentChange.paper_select_position := paper_select_position
destination
S1
output
St. CurrentChange
350 end;
T2 is
source
51
input
Si.SetPaperPosition
do
paper_select_position = Si.SetPaperPosition.paper_select_position;
Si. CurrentChange.paper_count = paper_count;
Si. CurrentChange.paper_select_position := Si.SetPaperPosition.paper_select_position
360 destination
51
output
St. CurrentChange
end
end —— Current_Settings
class

Copy_Control
field
370 St, Ms, Tm, Si, Key
state
S_ready, S_copy,
S_startl, S_start?,
S_stopl, S_stop?2,
S_emptyl, S_empty2,
S_reset, S_select
attribute
default_paper_count,
default_paper_select_position : Int;
380 current_paper_count,

current_paper_select_position : Int;
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key_input_start_flag : Int
transition
Start is
source
init
do
key_input_start_flag := 0
destination
390 S_ready
end;
T1 is
source
S_ready
input
St. DefaultChange
do
default_paper_count := Si.DefaultChange.paper_count;
default_paper_select_position := Si.DefaultChange.paper_select_position;
400 current_paper_count = Si.DefaultChange.paper_count;
current_paper_select_position = Si.DefaultChange.paper_select_position
destination
S_ready
end;
T2 is
source
S_ready
input
§i.CurrentChange
410 do
current_paper_count = Si.CurrentChange.paper_count;
current_paper_select_position = Si.CurrentChange.paper_select_position
destination
S_ready
end;
T3 is
source
S_ready
input
420 St.Standby
do
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Ms. Count.counter = current_paper_count;
Ms.Select.current = current_paper_select_position
destination
S_ready
output
{ Tm.o60s_Start, Ms.Count, Ms.Select }
end;
T4 is
430 source
S_ready
input
Key.Select
do
Cm.Send.cid = CID_GetTraylInfo;
Cm.Send.clen := CLEN_GetTraylInfo
destination
S_select
output
440 { Cm.Send, Tm.o60s_Stop }
end;
T5 1is
source
S_select
input
Cm.Ack
do
current_paper_select_position = Cm.Ack.param2;
Ms.Select.current := Cm.Ack.param?2;
450 Ms.Count.counter = current_paper_count
destination
S_ready
output
{ Tm.o60s_Start, Ms.Count, Ms.Select }
end;
T6 is
source
S_ready
input
460 Key.Reset or Tm.o60s
do
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Cm.Send.cid := CID_Reset;
Cm.Send.clen == CLEN_Reset
destination
S_reset
output
{ Cm.Send, Tm.o60s_Stop }
end;
T7 is
470 source
S_reset
input
Cm.Ack
destination
S_reset
end;
T7 2 is
source
S_reset
480 input
St.Standby
do
current_paper_count = default_paper_count;
current_paper_select_position := default_paper_select_position
destination
S_ready
output
{ Tm.060s_Start, Ms.Count, Ms.Select }
end;
490 T8 is
source
S_ready
input
Key.Start
do
Cm.Send.cid := CID_PrinterSetting;
Cm.Send.clen := CLEN_PrinterSetting,;

Cm.Send.param2 = current_paper_count;

Cm.Send.param3 = current_paper_select_position
500 destination

S_start!
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output
{ Tm.060s_Stop, Cm.Send }
end;
T9 is
source
S_start!
input
Cm.Ack
510 do
Cm.Send.cid := CID_CopyStart;
Cm.Send.clen == CLEN_CopyStart
destination
S_start2
output
Cm.Send
end;
T10 is
source
520 S_start2
input
Cm.Ack
destination
S_copy
end;
T11 is
source
S_copy
input
530 St.Standby
do
Ms. Count.counter := current_paper_count;
Ms.Select.current = current_paper_select_position
destination
S_ready
output
{ Tm.060s_Start, Ms.Count, Ms.Select }
end;
T12 is
540 source

S_copy
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input
Key.Stop
do
Cm.Send.cid := CID_CopyStop;
Cm.Send.clen := CLEN_CopyStop
destination
S_stopl
output
550 Cm.Send
end;
T18 is
source
S_stopl
input
Cm.Ack
destination
S_stop?2
end;
560 T14 is
source
S_stop2
input
St.Standby
do
Ms. Count.counter = current_paper_count;
Ms.Select.current = current_paper_select_position
destination
S_ready
570 output
{ Tm.o60s_Start, Ms.Count, Ms.Select }

end;

—— T15 0 T20 O0O0OOOODOOO
—— 0000 "obbo0ooboboooor oogooo

T15 is
source
S_copy
580 input

St.Copy_Empty
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destination
S_emptyl
end;
T16 is
source
S_emptyl
input
Key.Stop
590 do
Cm.Send.cid = CID_CopyStop;
Cm.Send.clen == CLEN_CopyStop
destination
S_stopl
output
Cm.Send
end;
T17 is
source
600 S_emptyl
input
St.Restart
destination
S_empty2
end;
T18 is
source
S_empty?2
input
610 St.Copy_Empty
destination
S_emptyl
end;
T19 is
source
S_empty2
input
Key.Stop
do
620 Cm.Send.cid := CID_CopyStop;
Cm.Send.clen == CLEN_CopyStop
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destination
S_stopl
output
Cm.Send
end;
T20 is
source
S_empty?2
630 input
Key.Start
do
Cm.Send.cid = CID_CopyStart;
Cm.Send.clen == CLEN_CopyStart
destination
S_copy
output
Cm.Send
end
640
end —— Copy_Control
—— Status Sub—Status constants
#define CP_STATUS_WAIT 0x01
#define CP_.STATUS_STANDBY 0x02
#define CP_STATUS_COPY 0x04
#define CP_STATUS_JAM 0x08
#define CP_STATUS_EMPTY 0x14
#define CP_STATUS_RESET OxFF
650
#define CP_SUB_STATUS_COPY 0x07
#define CP_SUB_STATUS STOP 0x08
#define CP_SUB_STATUS_EMPTY  0x80
class
Status_Control
field
St, Ms, Tm, St
attribute
660 copy_status_old : Int;
copy_sub_status_old : Int;
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tray_top_old : Int;
tray_middle_old : Int;
tray_bottom_old : Int;
default_paper_count,
default_paper_select_position : Int;
current_paper_count,
current_paper_select_position : Int
state
670 S_ready, S_wait_status, S_wait_copy_count
transition
Start is
source
init
do
copy_status_old := 0x00;
copy_sub_status_old := 0x00;
tray_top_old = OxFF;
tray_middle_old := OxFF;

680 tray_bottom_old = OxFF;
default_paper_count = 1;
default_paper_select_position = 1;

current_paper_count = 1;
current_paper_select_position = 1
destination
S_ready
output
Tm.2400m_Start
end;
690 T1 is
source
S_ready
input
Tm.1200m
do
Cm.Send.cid = CID_GetCopyCount;
Cm.Send.clen := CLEN_GetCopyCount
destination
S_wait_copy_count

700 output
Cm.Send
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end;
T2 is
source
S_wait_copy_count
input
Cm.Ack
do
Ms. Count.counter := Cm.Ack.param2
710 destination
S_ready
output
Ms.Count
end;
T3 is
source
S_ready
input
Si. Default Change
720 do
default_paper_count := Si.DefaultChange.paper_count;
default_paper_select_position
= St.DefaultChange.paper_select_position;
current_paper_count = Si.DefaultChange.paper_count;
current_paper_select_position
;= Si.DefaultChange.paper_select_position
destination
S_ready
end;
730 T/ is
source
S_ready
input
§i.CurrentChange
when
Si. CurrentChange.paper_count = 0
do
current_paper_count = Si.CurrentChange.paper_count;
current_paper_select_position
740 := St CurrentChange.paper_select_position

destination
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S_ready
—— output
—— Ms.Range
end;
T5 is
source
S_ready
input
750 Si. CurrentChange
when
copy_status_old = CP_STATUS_WAIT
and Si.CurrentChange.paper_count /= 0
do
current_paper_count = Si.CurrentChange.paper_count;
current_paper_select_position
;= 8i.CurrentChange.paper_select_position
destination
S_ready
760 —— output
—— Ms. Wazt
end;
T6 is
source
S_ready
input

§i.CurrentChange

when
copy_status_old = CP_STATUS_STANDBY
770 and Si.CurrentChange.paper_count /= 0
do
current_paper_count = Si.CurrentChange.paper_count;

current_paper_select_position
;= 8i.CurrentChange.paper_select_position
destination
S_ready
—— output
—— Ms.Standby
end;

780 T7 is

source
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S_ready
input
Tm.i400m
do
Cm.Send.cid := CID_GetStatus;
Cm.Send.clen = CLEN_GetStatus
destination
S_wast_status
790 output
Cm.Send

end;

—— 0000000000 ——mmm e

T8 is
-- 0000000000000 0000D0 OD DO0ooOOO0OOOoOoODoOooOo
-- 00 000000000000 00 000Oooooooo
800 source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old /= CP_STATUS_WAIT )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param3 = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj [= tray_top_old

810 or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé;
Ms. Size.top = Cm.Ack.paramy;
Ms.Size.middle = Cm.Ack.param$;
820 Ms.Size.bottom := Cm.Ack.param6
destination
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S_ready
output
{ St.Wait, Ms.Empty, Ms.Size }
end;
T9 is
—-—- 0000000000000 00000 OO0 O00000000000000000o
--— 00 000000000000 OO0 00000 =0 00 Ooooogoooo
830 source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old /= CP_STATUS_WAIT )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param3 /= CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
840 and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param¥;
tray_bottom_old := Cm.Ack.paramé;
Ms.Size.top = Cm.Ack.param/;
850 Ms.Size.middle := Cm.Ack.params;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
output
{ St.Wait, Ms.Range, Ms.Size }
end;
T10 is
—— J0000000ODOO0DOO00000D0DO OO oboooooooooooooooad
860 —— 00 0O000O0O0O0O0DODOO00 OO0 oooobo >0 00 ODbhobooooooo
source
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S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old /= CP_STATUS_WAIT )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param3 /= CP_SUB_STATUS_EMPTY )
870 and ( current_paper_count /= 0 )
and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.params;
tray_bottom_old := Cm.Ack.paramé;
880 Ms. Size.top .= Cm.Ack.paramj;
Ms.Size.middle = Cm.Ack.param?y;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
output
{ St.Wait, Ms.Size }
end;
Ti1 is
890 —— 0000000000000 DbbO0Ob00 U0 Doobbooooboooooo
—-—- 00 0000000000 (20m O0O0OO0 )OO ODOOOOODOCOO
source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY )
900 and ( Cm.Ack.paramj [= tray_top_old

or Cm.Ack.paramb [= tray_-middle_old
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or Cm.Ack.param6 [= tray_bottom_old )

copy_status_old := Cm.Ack.param2;

copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;

tray_bottom_old := Cm.Ack.paramé;

Ms. Size.top = Cm.Ack.paramy;
910 Ms.Size.middle = Cm.Ack.params;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
output
{ St.Wait, Ms.Empty, Tm.i200m_Stop, Ms.Size }
end;
Ti2 is
—— 0000000ODOO0DO0O0000DODO ObO ObDOOoDooOoOOooOobboOooOooo
920 —— 00 0O0000=0 00 0O0O0O0O0OO0OO0O0OO0(200m OOOOO )
—— 00 O000DOOOOooDoo
source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY )
930 and ( current_paper_count = 0 )
and ( Cm.Ack.parami [= tray_top_old
or Om.Ack.paramb /= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé6;
940 Ms.Size.top = Cm.Ack.paramj;

Ms.Size.middle =

Cm.Ack.param?;
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Ms.Size.bottom = Cm.Ack.param6b
destination

S_ready
output

{ St.Wait, Ms.Range, Tm.i200m_Stop, Ms.Size }

end;

T13 is
950 —— JOboooboooooooooooo oo oboooooouoboooooooao
—-— 00 000OO00O>0 OO DOODOODOOOOO(200m OOOOO )
-— 00 dooooooooo
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_COPY )
960 and ( Cm.Ack.param3 [= CP_SUB_STATUS_EMPTY )
and ( current_paper_count /= 0 )
and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param¥;
970 tray_bottom_old := Cm.Ack.paramé;
Ms. Size.top = Cm.Ack.paramy;
Ms. Size.middle = Cm.Ack.param¥;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
output
{ St.Wait, Ms.Wait, Tm.i200m_Stop, Ms.Size }
end;
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T1} is
—— Joooobooooobooboo o0 Dooooooooooooboooooa
-—- 00 00000doggo
source
S_wait_status
input
Cm.Ack
when
990 ( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
and copy_sub_status_old /= CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.parami [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )

copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
1000 tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé6;

Ms. Size.top = Cm.Ack.paramy;
Ms.Size.middle = Cm.Ack.param?;
Ms. Size.bottom = Cm.Ack.paramb
destination
S_ready
output

{ Ms.Empty, Ms.Size }
1010 end;

T15 is

—— 000000000 0DO0O00000 00 oooOoboobOOoooobooooooogo
—— 00 00000 =0 00 ODO0bOOooooooo
source
S_wait_status
input
Cm.Ack
when
1020 ( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
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and ( Cm.Ack.param3 /= CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
and ( Cm.Ack.paramj [= tray_top_old
or Om.Ack.paramb /= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
1030 copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;

tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé;
Ms. Size.top = Cm.Ack.paramy;
Ms.Size.middle = Cm.Ack.param$;
Ms.Size.bottom = Cm.Ack.param6

destination
S_ready

output

1040 { Ms.Range, Ms.Size }

end;

Ti16 is
—— 000D00D00DO0ODODOO0DO000 OO 0oooooooooooooooooooo
-—- 00 00000 >0 00 DOOOOODODODOO
source
S_wait_status
input
Cm.Ack
1050 when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
and ( current_paper_count /= 0 )
and ( Cm.Ack.param) [= tray_top_old
or Om.Ack.paramb /= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

1060 copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3;
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tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé;

Ms.Size.top = Cm.Ack.param/;
Ms. Size.middle = Cm.Ack.param¥;
Ms.Size.bottom = Cm.Ack.param6b
destination
S_ready
1070 output

{ Ms.Wait, Ms.Size }

end;

T17 is
—— 000000000 O0DO000000 00 ooooboooooooobooooon
—— 00 O000DOOOOooDoo
source
S_wait_status
input
1080 Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.parami [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )

1090 copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé6;
Ms. Size.top = Cm.Ack.paramy;
Ms.Size.middle = Cm.Ack.param?;
Ms. Size.bottom = Cm.Ack.paramb

destination
S_ready

1100 output

{ Ms.Size }
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end;

Ti8 is
—— Joooboboooooooooooda
-—- 00 0000DOO000dooooopoooooo
-— 00 O000ooooogogo
source
S_wast_status
1110 input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
and ( Cm.Ack.param8 [= CP_SUB_STATUS_EMPTY
and copy_sub_status_old /= CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj [= tray_top_old
or Om.Ack.paramb /= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

1120 do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé;
Ms. Size.top = Cm.Ack.paramy;
Ms.Size.middle = Cm.Ack.param$;
Ms.Size.bottom = Cm.Ack.param6
destination
1130 S_ready
output
{ Ms.Size }
end;
T19 is

—— 0O00o0ooobobboobbbboobob 0b obboobobbooooboo
—— 00 00Db0o00ooooobb o0 oooboooboo

1140 source

S_wait_status
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input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old /= CP_STATUS_STANDBY )
and ( copy_status_old /= CP_STATUS_-COPY )
and ( Cm.Ack.paramd = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.param/ [= tray_top_old

1150 or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé6;
Ms. Size.top = Cm.Ack.parami;
Ms.Size.middle = Cm.Ack.param?;
1160 Ms.Size.bottom = Cm.Ack.paramé
destination
S_ready
output
{ St.Standby, Ms.Empty, Ms.Size }
end;
T20 is

—-—- 000D0000DO0ODO0ODO0O0000D0O OO0 000oooooooooooogoo
—— 00 ooobooboooooon oo boooo =0 00 Dboooooooo
1170 source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old /= CP_STATUS_STANDBY )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param3 /= CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
1180 and ( Cm.Ack.param/ [= tray_top_old
or Cm.Ack.paramb [= tray_-middle_old
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or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé;
Ms. Size.top = Cm.Ack.paramy;
1190 Ms.Size.middle = Cm.Ack.param$;
Ms.Size.bottom = Cm.Ack.paramb
destination
S_ready
output
{ St.Standby, Ms.Range, Ms.Size }
end;
T21 is
—— 00000000ODOO0ODOODOO00DODO ObO ObDOOoDooOoOOooOoboboOooOooo
1200 —— 00 O00DO0O0O0O0ooOobb OO0 oobboo »0 OO0 ODODOObObOOOOn
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old /= CP_STATUS_STANDBY )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param3 /= CP_SUB_STATUS_EMPTY )
1210 and ( current_paper_count /= 0 )
and ( Cm.Ack.param [= tray_top_old
or Om.Ack.paramb /= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé6;
1220 Ms. Size.top = Cm.Ack.paramy;

Ms.Size.middle = Cm.Ack.param?;
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Ms.Size.bottom = Cm.Ack.param6b

destination
S_ready
output
{ St.Standby, Ms.Standby, Ms.Size }
end;
T22 is
1230 —— 0000000DODOO0DOO0DODOO00D0DO 00O obodoooobooooooo
—— 00 O00O0OooOoooo (200m OOOOO )OO DOOOODOOOOO
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.paramd = CP_SUB_STATUS_EMPTY )
1240 and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param¥;
tray_bottom_old := Cm.Ack.paramé;
Ms.Size.top = Cm.Ack.param/;
1250 Ms.Size.middle = Cm.Ack.param¥;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
output
{ St.Standby, Ms.Empty, Tm.i200m_Stop, Ms.Size }
end;
T23 is
—— 00000000ODOO0ODOO0ODODO000DO OO oboooooooooooooooad
1260 —-— 00 0O00O0O0=0 OO DOODOODOOOOO(200m OOOOO )

—— 00 O000DbOoooooo
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source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY )
1270 and ( current_paper_count = 0 )
and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )
do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.params;
tray_bottom_old := Cm.Ack.paramé;

1280 Ms. Size.top = Cm.Ack.param/;
Ms.Size.middle = Cm.Ack.param?y;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
output
{ St.Standby, Ms.Range, Tm.i200m_Stop, Ms.Size }
end;
T24 is
1290 —— J0O00000ObO0OO0obbObObO0O0bObO Ob obbooooooooobboooooo
——- 00 00000>0 OO0 OO0O0O0OD0O00D (200m OOOOO )
—— 00 O000DOOOooooo
source
S_wait_status
input
Cm.Ack
when

( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_COPY )
1300 and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY )

and ( current_paper_count /= 0 )
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and ( Cm.Ack.param) [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )

copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;

tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
1310 tray_bottom_old := Cm.Ack.param6;
Ms. Size.top = Cm.Ack.paramy;
Ms.Size.middle = Cm.Ack.param?;
Ms.Size.bottom = Cm.Ack.paramb
destination
S_ready
output
{ St.Standby, Ms.Standby, Tm.i200m_Stop, Ms.Size }
end;
320 ------—-—-—--""""""¥"¥"¥—"————————
T25 is
—— 0000000ODOO0ODOO0ODODO000 00 oobobobbooooooooooono
—— 00 O00D0DOOOoOooODo
source
S_wait_status
input
Cm.Ack
when
1330 ( Cm.Ack.param2 = CP_STATUS_STANDBY

and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
and copy_sub_status_old /= CP_SUB_STATUS_EMPTY )

and ( Cm.Ack.paramj [= tray_top_old

or Cm.Ack.paramb [= tray_middle_old

or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
1340 tray_top_old = Cm.Ack.paramy;

tray_middle_old := Cm.Ack.param$;
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tray_bottom_old := Cm.Ack.paramé;

Ms.Size.top = Cm.Ack.param/;
Ms.Size.middle = Cm.Ack.param?y;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
output

{ Ms.Empty, Ms.Size }
1350 end;
T26 is
—— 000D00D00DO0ODODOO00000 OO0 00000000000dodgogoooooon
-— 00 0O0O0O0O0O =0 00O O0oDoooood
source
S_wast_status
input
Cm.Ack
when
1360 ( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 [= CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param?2;
1370 copy_sub_status_old = Cm.Ack.params;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.params;
tray_bottom_old := Cm.Ack.paramé;
Ms.Size.top = Cm.Ack.param/;
Ms.Size.middle = Cm.Ack.param?y;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
output
1380 { Ms.Range, Ms.Size }
end;

198



T27 is
—— 00000000O0O0DO0ODO0O000 OO0 oooOobooobOoooobooooooog
—— 00 00000 >0 00 ODODODOOOODO
source
S_wait_status
input
Cm.Ack
1390 when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
and ( current_paper_count /= 0 )
and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )
do
1400 copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé;
Ms. Size.top = Cm.Ack.parami;
Ms.Size.middle = Cm.Ack.param?;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
1410 output
{ Ms.Standby, Ms.Size }

end;

T28 is
—— 0000000000 DO0OO0O000O OO oooOoboooOoooobooooono
—— 00 O00D0DOOOoOooODo
source
S_wait_status
input
1420 Cm.Ack

when
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( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )

and ( Cm.Ack.paramj [= tray_top_old

or Cm.Ack.paramb [= tray_middle_old

or Cm.Ack.param6 [= tray_bottom_old )

do
1430 copy_status_old := Cm.Ack.param?2;

copy_sub_status_old := Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.params;
tray_bottom_old := Cm.Ack.paramé;

Ms.Size.top = Cm.Ack.param/;
Ms.Size.middle = Cm.Ack.param?y;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
1440 output

{ Ms.Size }

end;

T29 is

—— 0o00O0gobobobobbobboon 00 oobobobboooooboboooooo
—— 00 O000DbOoooooo

source
S_wast_status
input
1450 Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 [= CP_SUB_STATUS_EMPTY
and copy_sub_status_old /= CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.parami [= tray_top_old
or Om.Ack.paramb /= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

1460 copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3;

200



tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé;

Ms.Size.top = Cm.Ack.param/;
Ms. Size.middle = Cm.Ack.param¥;
Ms.Size.bottom = Cm.Ack.param6b
destination
S_ready
1470 output
{ Ms.Size }
end;
T30 is
—— 00000000000000000 (200m OOOOO )
—— 00 00DOO00O0DbO0O000bbO0O0 OO0 bobobooooo
source
1480 S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_COPY
and copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param3 = CP_SUB_STATUS_COPY )
and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )
1490 do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param¥;
tray_bottom_old := Cm.Ack.paramé;
Ms. Size.top = Cm.Ack.paramy;
Ms. Size.middle = Cm.Ack.param¥;
Ms.Size.bottom = Cm.Ack.param6
destination
1500 S_ready
output
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{ St.Copy, Tm.i200m_Start, Ms.Copy, Ms.Size }

end;

1

T31 is
—— 000000000Oo0OooooooO (200m OOOOO )
—— 00 ODO00oboobooooooooo oo oobooooboooad
source
S_wast_status
1510 input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_COPY
and copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_STOP )
and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

do
1520 copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé;
Ms. Size.top = Cm.Ack.parami;
Ms.Size.middle = Cm.Ack.param?;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
1530 output
{ St.Copy, Tm.i200m_Start, Ms.Stop, Ms.Size }
end;
T32 is

—— 0000000000000 000 OO0 Dooobobboooobobooooono
—— 00 O00D0DOOOoOooODo
source

1540 S_wazt_status

input
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Cm.Ack

when
( Cm.Ack.param2 = CP_STATUS_COPY

and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_-COPY
and copy_sub_status_old /= CP_SUB_STATUS_-COPY )
and ( Cm.Ack.parami [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
1550 or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param¥;
tray_bottom_old := Cm.Ack.paramé;

Ms.Size.top = Cm.Ack.param/;
Ms. Size.middle = Cm.Ack.param¥;
Ms.Size.bottom = Cm.Ack.param6
1560 destination
S_ready
output
{ Ms.Copy, Ms.Size }
end;
133 is
—— 00000D00DO0ODODO0O0D00O0 OO0 000ooooooooooooooooog
-—- 00 00000doggo
source
1570 S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_COPY
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_STOP
and copy_sub_status_old /= CP_SUB_STATUS_STOP )
and ( Cm.Ack.parami [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
1580 or Cm.Ack.paramb [= tray_bottom_old )
do
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copy_status_old := Cm.Ack.param?2;

copy_sub_status_old = Cm.Ack.param3;

tray_top_old = Cm.Ack.paramy;

tray_middle_old := Cm.Ack.param¥;

tray_bottom_old := Cm.Ack.paramé;

Ms. Size.top = Cm.Ack.paramy;

Ms. Size.middle = Cm.Ack.param¥;

Ms.Size.bottom = Cm.Ack.paramb
1590 destination

S_ready

output
{ Ms.Stop, Ms.Size }

end;

T3/ is
—-— 00oooooooooooo WAaM)oOooo
1600 -—- 00 000000000000 00 ooogooooooo
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_JAM
and copy_status_old /= CP_STATUS_JAM )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.paramj [= tray_top_old
1610 or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3
destination
S_ready
output
{ St.Jam, Ms.Jam } —— { Ms.Size }
end
1620
T35 is
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—-— 00oooooooooooo WAaM)oOooo
—— 00 0000000000 (200m OO0OO00 ) OO0 OOOOOOOOOO
source

S_wait_status

input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_JAM
1630 and copy_status_old = CP_STATUS_COPY )

and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
1640 { St.Jam, Ms.Jam, Tm.i200m_Stop } —— { Ms.Size }
end;
T36 is
—-—- 0000O0ooooooooo (JAM)OUOD OO0 oooooooooo
source
S_wast_status
input
1650 Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_JAM
and copy_status_old = CP_STATUS_JAM )
and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3
1660 destination

S_ready
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—— output

—— { Ms.Size }
end;
T37 is
—— 00000000ODOO0OO0O0DOOoOoOooooooo
1670 —— 00 000OO0000oo0obO0O 00 ooopooooood
source

S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_EMPTY
and copy_status_old /= CP_STATUS_EMPTY )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param) [= tray_top_old
1680 or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )

copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé6;

Ms. Size.top = Cm.Ack.paramy;
Ms.Size.middle = Cm.Ack.param$;
1690 Ms.Size.bottom = Cm.Ack.paramé
destination
S_ready
output
{ St.Copy_Empty, Ms.Empty, Ms.Size }
end;
T38 is

—— 0O0000obobobOooboboooooooobo

—— 00 0000000000 (200m OO0OO00 ) OO0 OOOOOOOOOO
1700 source

S_wait_status
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input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_EMPTY
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param [= tray_top_old
or Om.Ack.paramb /= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )
1710 do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old

Cm.Ack.param¥;
tray_bottom_old := Cm.Ack.paramé6;

Ms. Size.top = Cm.Ack.paramy;
Ms.Size.middle = Cm.Ack.param$;
Ms. Size.bottom = Cm.Ack.paramb
destination
1720 S_ready
output
{ St.Copy_Empty, Ms.Empty, Tm.i200m_Stop, Ms.Size }
end;
T39 is
—— 0000000DOO00000oOoOoooooo
—— 00 O00D0O00O0DODOOo0obooooooon
1730 —— 00 O000DOOOooooo
source
S_wait_status
input
Cm.Ack
when

( Cm.Ack.param2 = CP_STATUS_EMPTY
and copy_status_old = CP_STATUS_EMPTY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
and copy_status_old = CP_SUB_STATUS_EMPTY )
1740 and ( Cm.Ack.param/ [= tray_top_old
or Cm.Ack.paramb [= tray_-middle_old
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or Cm.Ack.param6 [= tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé;
Ms. Size.top = Cm.Ack.paramy;
1750 Ms.Size.middle = Cm.Ack.param$;
Ms.Size.bottom = Cm.Ack.paramb
destination
S_ready
output
{ Ms.Size }
end;
T39 2 is
—— 0000000DODO00000O0O0O0bODoOo
1760 —— 00 00O0OO00O0bO0O0ooobbooooboooo
—— 00 O000DOOOOooDoo
source

S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_EMPTY
and copy_status_old = CP_STATUS_EMPTY )
and ( Cm.Ack.param8 [= CP_SUB_STATUS_EMPTY
1770 and copy_status_old = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.param) [= tray_top_old
or Om.Ack.paramb /= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )

copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé6;
1780 Ms. Size.top = Cm.Ack.paramy;
Ms.Size.middle = Cm.Ack.param?;
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Ms.Size.bottom = Cm.Ack.param6b
destination
S_ready
output
{ St.Restart, Ms.Restart, Ms.Size }
end;
T39_3 is
—— 0000000DOO00000oOoOoooooo
1790 —— 00 O0000DOO0o0bOooooooooooo
—— 00 O000DOOOOooDoo
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_EMPTY
and copy_status_old = CP_STATUS_EMPTY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
1800 and copy_status_old /= CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 /= tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.param/;
tray_middle_old := Cm.Ack.param$;
tray_bottom_old := Cm.Ack.paramé6;

1810 Ms. Size.top = Cm.Ack.param/;
Ms.Size.middle = Cm.Ack.param?;
Ms. Size.bottom = Cm.Ack.paramb
destination
S_ready
output
{ St.Copy_Empty, Ms.Empty, Ms.Size }
end;
—— 00O0bOO00ooDg ————————
1820
T40 is
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—— 00O00o0oobobboobooooobob 0ob oboobobbooooboo
—— 00 Ooogbobbobodo0 ob boboboooboob
source

S_wait_status

input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
1830 and copy_status_old /= CP_STATUS_WAIT )

and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param3 = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6é = tray_bottom_old )
do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.params3
destination
1840 S_ready
output
{ St.Wait, Ms.Empty }

end;

T/1 is
—— 0000000ODOO0DO0O0000DODO ObO ObDOOoDooOoOOooOobboOooOooo
—— 00 000OO000O0oo0bbO 00 ooboo =0 00 oboobooooood
source
S_wait_status
1850 input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT and copy_status_old /= CP_STATUS_-WAIT )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param3 /= CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6é = tray_bottom_old )
1860 do
copy_status_old := Cm.Ack.param2;
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copy_sub_status_old := Cm.Ack.param3
destination

S_ready
output

{ St.Wait, Ms.Range }

end;

742 is
1870 —— 00000000ODOO0DOO00000D0DO OO oboooooooooooooooad
—— 00 00DO0O00O0o0OOoOobObO 00 ooboo >0 OO OobOoboooooog
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old /= CP_STATUS_WAIT )
and ( copy_status_old /= CP_STATUS_-COPY )
1880 and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY )
and ( current_paper_count /= 0 )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6 = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3
destination
S_ready
1890 output
{ St.Wait }

end;

T43 is
—— 0000000DODOO0O00000D0DO OO obhoobOoobooooooo
—-—- 00 0000000000 (20m OOOOO )OO0 ODOOOCOOODOOO
source
S_wait_status
input
1900 Cm.Ack

when
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( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6 = tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
1910 copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ St.Wait, Ms.Empty, Tm.i200m_Stop }
end;
T44 is

—-— 000D000O0DO0O0ODO00D00000O OO0 00000o00o0oo0o0o0ooooo
—— 00 00000=0 OO0 OO0OOODOOO0OO0OD (200m OOOOO )
1920 -—- 00 0000O000oOooo
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
1930 and ( Cm.Ack.parami = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramb6 = tray_bottom_old )

do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ St.Wait, Ms.Range, Tm.i200m_Stop }
1940 end;
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T/5 is

- 000000000000000000

-- 00 000000000000000000 OO0 0000030

-- 00 0000000000 (200m 00000 ) OO0 0000000000

source
S_wait_status
input
Cm.Ack
1950 when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY )
and ( current_paper_count /= 0 )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6é = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
1960 copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ St.Wait, Ms.Wait, Tm.i200m_Stop }

end;

T46 is
1970 —— J0O0O0000oobOobOoooooo
—— 00 00D000O0DODO000bOODO00bO0OD OO0 oooboooboboo
source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
1980 and copy_sub_status_old /= CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = tray_top_old
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and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6é = tray_bottom_old )
do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.params3
destination
S_ready
output
1990 { Ms.Empty }

end;

T47 is
—— 00000000ODO0DOO000000 00 oobOobOobObOooooboOooooooo
—— 00 00000 =0 00O Ooboooooood
source
S_wait_status
input
Cm.Ack
2000 when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.param5 = tray_middle_old
and Cm.Ack.paramé6 = tray_bottom_old )

do
2010 copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ Ms.Range }
end;
T8 is
—— 000000000 0DO000000 00 oobooboobboooooboooooaoo
20200 —— U0 0O00O0OOO >0 OO ODOOOOODOOOO
source
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S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
2030 and ( current_paper_count /= 0 )
and ( Cm.Ack.paramj = iray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramb6 = tray_bottom_old )
do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
2040 { Ms.Wait }

end;

T49 is
—— JO00000oobOoboooooo
—— 00 00D000O0DOO0000bODO0O00bO OO0 Dobobbooooo
source
S_wast_status
input
2050 Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6 = tray_bottom_old )

2060 copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3
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destination

S_ready
—— output
—— None
end;
T50 is
—— 0000000OOOOobOoooOooo
2070 —— 00 000O0DOO00OO000o0bOoOo0o0oo0 OO0 oooooooboo
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_WAIT
and copy_status_old = CP_STATUS_WAIT )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY
and copy_sub_status_old /= CP_SUB_STATUS_EMPTY )
2080 and ( Cm.Ack.parami = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramé = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.params3
destination
S_ready
—— output
—— None
2090 end;
T51 is

—— 0000000DODOO0ODbOO0ODODO0O0O0ODO OO obhoobOoobooooooo
—— 00 00DO00000O0O0bbO OO0 Dooobooooo
source
S_wait_status
input
2100 Cm.Ack

when
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( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old /= CP_STATUS_STANDBY )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramb6 = tray_bottom_old )

do
2110 copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ St.Standby, Ms.Empty }
end;
T52 is
2120 —— J0O00000ObO0OO0obbObObO0O0bObO Ob obbooooooooobboooooo
—— 00 00DO0O0000O0OO0bObO 00 oobboo =0 00O OobOoboooooog
source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old /= CP_STATUS_STANDBY )
and ( copy_status_old /= CP_STATUS_COPY )
2130 and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6é = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.params3
destination
S_ready
2140 output

{ St.Standby, Ms.Range }
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end;

T53 is
—— Jooooboooooooboboboo oo tobooooooooooooooon
—-—- 00 000000000000 00O ODO000 »0 OO O0OO0ODoooooon
source
S_wait_status
input
2150 Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old /= CP_STATUS_STANDBY )
( copy_status_old /= CP_STATUS_-COPY )
and ( Cm.Ack.param3 /= CP_SUB_STATUS_EMPTY )
(

and

and

current_paper_count /= 0 )

and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6 = tray_bottom_old )

2160 do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3
destination
S_ready
output
{ St.Standby, Ms.Standby }
end;
T54 is
2170 —— J000000ObOOO0obO0ObODbO0bobDO Ob Ubhooboobobooooooo

—-— 00O OoOoooooooo (200m OOOO0O ) OO0 ODOOOOOOOOO
source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY )
2180 and ( Cm.Ack.param/ = tray_top_old
and Cm.Ack.paramb = tray_middle_old
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2190

2200

2210

2220

and Cm.Ack.param6 = tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3
destination
S_ready
output
{ St.Standby, Ms.Empty, Tm.:200m_Stop }
end;
T55 is

—— J000000ObObOO0obbObObO00b0bO Ob obooooooooobboooooo
—— 00 00000=0 OO0 OO0OOODOOO0OO0OD (200m OOOOO )
—— 00 O0O00bOoooooo
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6é = tray_bottom_old )
do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ St.Standby, Ms.Range, Tm.i200m_Stop }

end;

T56 is

—— pgobobobboboobobobo 0ob boboobobooboboooboo
—-— 00 000OO00O>0 OO DOODOODOOOO(200m OOOOO )

—— 00 O000DbOoOooooo
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source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY )
2230 and ( current_paper_count /= 0 )
and ( Cm.Ack.paramj = iray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramb6 = tray_bottom_old )

do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
2240 { St.Standby, Ms.Standby, Tm.i200m_Stop }
end;
T57 is

—— 000O000D0OODOOoboOoOoOOooo
—— 00 00000000 000bOoOoO0o0bO0onD 00 oooboooobooo
source
S_wait_status
2250 input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
and copy_sub_status_old /= CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6é = tray_bottom_old )
2260 do
copy_status_old := Cm.Ack.param2;
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copy_sub_status_old := Cm.Ack.param3
destination

S_ready
output

{ Ms.Empty }

end;

T58 is
2270 —— 000000000 O0DO0OO0O000 00 ooooboooboooooboooooooa
—— 00 00000 =0 OO ODDhOobOooooog
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY
2280 and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
and ( current_paper_count = 0 )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6 = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3
destination
S_ready
2290 output
{ Ms.Range }

end;

T59 is
—— 00000000O0O0DO0ODO0O000 OO0 oooOobooobOoooobooooooog
—— 00 00000 >0 OO0 OOOoOobooooon
source
S_wait_status
input
2300 Cm.Ack

when
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( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY
and copy_sub_status_old = CP_SUB_STATUS_EMPTY )

and ( current_paper_count /= 0 )
and ( Cm.Ack.paramj = tray_top_old

and Cm.Ack.paramb = tray_middle_old

and Cm.Ack.paramé6 = tray_bottom_old )

2310 do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ Ms.Standby }
end;
T60 is
2320 —— J0O0O00O0oooOobboooooo
—— 00 00DOO0O0O0DOOO0O00bObObO0O00bO OO0 oobobbooooo
source
S_wast_status
input
Cm.Ack
when

( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
2330 and copy_sub_status_old = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramé6 = tray_bottom_old )

copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3

destination
S_ready
—— output
2340 —— None
end;
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2350

2360

2370

2380

T61 is
—— J0O0O0000OoOOOoboooooo
—— 00 0000DOO00OO000oboooOoo0oooO0 00 goooboooooboo
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_STANDBY
and copy_status_old = CP_STATUS_STANDBY )
and ( Cm.Ack.param8 /= CP_SUB_STATUS_EMPTY
and copy_sub_status_old /= CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.param6é = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
—— output
—— None

end;

T62 is
—— 000000000DOO0Ooooooo (200m OOOOO )
—— 00 00DO0ODOO0DOOO00O0bObODOO0 00O Ooboboooooo
source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_COPY
and copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.paramd = CP_SUB_STATUS_COPY )
and ( Cm.Ack.param/ = tray_top_old
and Cm.Ack.paramb = tray_middle_old
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and Cm.Ack.param6 = tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3
destination
S_ready
output

{ St.Copy, Tm.:200m_Start, Ms.Copy }
2390 end;

T63 is
—— 000000000Oo0OooooooO (200m OOOOO )
—— 00 0bObobobbooooboobo bbh booobbboooo

source
S_wast_status
input
Cm.Ack
when
2400 ( Cm.Ack.param2 = CP_STATUS_COPY
and copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_STOP )
and ( Cm.Ack.paramj = iray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramb6 = tray_bottom_old )
do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3

destination
2410 S_ready

output

{ St.Copy, Tm.i200m_Start, Ms.Stop }
end;

T6/ is
—-— J00o0o0oooooogooooo

—— 00 ooggoboooogboobobobb Do oboobooboobo
2420 source

S_wait_status
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input
Cm.Ack

when
( Cm.Ack.param2 = CP_STATUS_COPY

and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_COPY
and copy_sub_status_old /= CP_SUB_STATUS_COPY )
and ( Cm.Ack.paramj = iray_top_old
2430 and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramé6 = tray_bottom_old )

do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3

destination
S_ready
output
{ Ms.Copy }
end;
2440
T65 is
—— J0O000O0O0obooOOooooooa
—— 00 00000000 000bO00bOoboOo0 OO obooooobboog
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_COPY
2450 and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.param3 = CP_SUB_STATUS_STOP
and copy_sub_status_old /= CP_SUB_STATUS_STOP )
and ( Cm.Ack.paramj = iray_top_old
and Cm.Ack.param5 = tray_middle_old
and Cm.Ack.paramé6 = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3
destination
2460 S_ready
output
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{ Ms.Stop }

T66 is
—-— 000000oooooooo (JAM)OOoOoOo
—— 00 00bO0oooobooobb OO0 booobobooooo

2470 source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_JAM
and copy_status_old /= CP_STATUS_JAM )
and ( copy_status_old /= CP_STATUS_COPY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
2480 and Cm.Ack.paramb = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ St.Jam, Ms.Jam }

end;

2490 T67 is
—-— 00oooooooooooo WAaM)oOooo
—— 00 OO00O0Ooooooo (200m OOOOO0 ) OO0 OOOOOOCOOOO
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_JAM
and copy_status_old = CP_STATUS_COPY )
2500 and ( Cm.Ack.param/ = tray_top_old
and Cm.Ack.paramb = tray_middle_old
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and Cm.Ack.param6 = tray_bottom_old )

copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3
destination
S_ready
output
{ St.Jam, Ms.Jam, Tm.i200m_Stop }
2510 end;

T68 is
—-— 00oOooooooooooo (AM)oOoo
—— 00 O0O00bOoooooo
source
S_wait_status
input
Cm.Ack
2520 when
( Cm.Ack.param2 = CP_STATUS_JAM
and copy_status_old = CP_STATUS_JAM )
and ( Cm.Ack.paramj = iray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramb6 = tray_bottom_old )
do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3
destination
2530 S_ready
—— output
—— None

end;

T69 is

—-—- Jo000ogooooooogoooooogon

—— 00 ooobooboooooon oo oooooboooao
2540 source

S_wait_status
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input
Cm.Ack

when
( Cm.Ack.param2 = CP_STATUS_EMPTY

and copy_status_old /= CP_STATUS_EMPTY )
and ( copy_status_old /= CP_STATUS_-COPY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
2550 and Cm.Ack.param6 = tray_bottom_old )

do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.params3

destination
S_ready
output
{ St.Copy_Empty, Ms.Empty }
end;
2560
T70 is
—— J000000ObODOO0O0oooOoooooooo
—— 00 O00OO0oOoOoooo (200m OOOOO ) OO OOOOOOQOOOO
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_EMPTY
2570 and copy_status_old = CP_STATUS_COPY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramé6 = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
2580 { St.Copy_Empty, Ms.Empty, Tm.i200m_Stop }
end;
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T71 is
—— J000000DOO000boooooboooo
—— 00 00D0O00O0DODOO00O0bbOoOoooo
—— 00 O00DOOOoooon

source

2590 S_wait_status
input
Cm.Ack

when
( Cm.Ack.param2 = CP_STATUS_EMPTY

and copy_status_old = CP_STATUS_EMPTY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
and copy_status_old = CP_SUB_STATUS_EMPTY )

and ( Cm.Ack.parami = tray_top_old
and Cm.Ack.paramb = tray_middle_old
2600 and Cm.Ack.paramb = tray_bottom_old )

do

copy_status_old := Cm.Ack.param2;

copy_sub_status_old := Cm.Ack.param3
destination

S_ready
—— output

—— None

end

2610 T71_2 is
—— 000000 00bOOOobOOooboOoOoooon

—— 00 00O0OO00O0bO0O0ooobbooooboooo
—— 00 O000DO0OOODoon
source
S_wast_status
input
Cm.Ack

when
( Cm.Ack.param2 = CP_STATUS_EMPTY

and copy_status_old = CP_STATUS_EMPTY )
and ( Cm.Ack.param3 /= CP_SUB_STATUS_EMPTY

2620
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and copy_status_old = CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
and Cm.Ack.paramé = tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.params3
destination
2630 S_ready
output
{ St.Restart, Ms.Restart }

end

T71_8 is
—— 0000000DOO00000oOoOoooooo
—— 00 O000O0DOO00obOooooooooooo
—— 00 O00DOOOoooon
source
2640 S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_EMPTY
and copy_status_old = CP_STATUS_EMPTY )
and ( Cm.Ack.param8 = CP_SUB_STATUS_EMPTY
and copy_status_old /= CP_SUB_STATUS_EMPTY )
and ( Cm.Ack.paramj = iray_top_old
and Cm.Ack.param5 = tray_middle_old
2650 and Cm.Ack.paramb = tray_bottom_old )
do
copy_status_old := Cm.Ack.param?2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ St.Copy_Empty, Ms.Empty }

end;

2660 T72 is
—— 00000oOo0oOo0ooooooooboao
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—— 00 O00D0DOOOoOooODo
source
S_wast_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_RESET
and copy_status_old /= CP_STATUS_RESET )
2670 and ( Cm.Ack.paramj [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
or Cm.Ack.param6 [= tray_bottom_old )
do
copy_status_old := Cm.Ack.param2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param¥;
tray_bottom_old := Cm.Ack.paramé;

Ms. Size.top = Cm.Ack.paramy;
2680 Ms.Size.middle = Cm.Ack.param¥;
Ms.Size.bottom = Cm.Ack.param6
destination
S_ready
output
{ St.Reset, Ms.Reset, Ms.Size }
end;
T72_2 is
—— JO00O0O0O0oooOoooooooo
2690 —— 00 O000DOOOooooo
source
S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_RESET
and copy_status_old = CP_STATUS_RESET )
and ( Cm.Ack.parami [= tray_top_old
or Cm.Ack.paramb [= tray_middle_old
2700 or Cm.Ack.paramb [= tray_bottom_old )
do
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copy_status_old := Cm.Ack.param?2;
copy_sub_status_old = Cm.Ack.param3;
tray_top_old = Cm.Ack.paramy;
tray_middle_old := Cm.Ack.param¥;
tray_bottom_old := Cm.Ack.paramé;

Ms. Size.top = Cm.Ack.paramy;
Ms. Size.middle = Cm.Ack.param¥;
Ms.Size.bottom = Cm.Ack.paramb
2710 destination
S_ready
output

Ms.Size

end;

T73 is

—— J0O00OO0O0obooOobooDooOooo
—— 00 O00DOOOoooon
source
2720 S_wait_status
input
Cm.Ack
when
( Cm.Ack.param2 = CP_STATUS_RESET
and copy_status_old /= CP_STATUS_RESET )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.param5 = tray_middle_old
and Cm.Ack.paramé6 = tray_bottom_old )

do
2730 copy_status_old := Cm.Ack.param2;
copy_sub_status_old := Cm.Ack.param3
destination
S_ready
output
{ St.Reset, Ms.Reset }
end;
T73_2 is
—— JO00O0O0O0oooOoooooooo
2740 —— 00 O000DOOOOoDoon
source
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S_wait_status
input

Cm.Ack
when

( Cm.Ack.param2 = CP_STATUS_RESET

and copy_status_old = CP_STATUS_RESET )
and ( Cm.Ack.paramj = tray_top_old
and Cm.Ack.paramb = tray_middle_old
2750 and Cm.Ack.param6 = tray_bottom_old )

do

copy_status_old := Cm.Ack.param?2;

copy_sub_status_old := Cm.Ack.params3
destination

S_ready

end

end —— Status_Control

class
Timer_400m_Interval
field
Tm
state
S_on, S_off
transition
Start is
source
2770 init
destination
S_off
end;
T1 is
source
S_off
input
Tm.1400m_Start
destination
2780 S_on

end;
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T2 is
source
S_on
input
Tm.i400m_Stop
destination
S_off
end;
2790 T3 is
source
S_on
input
Tm.1400m_interval
destination
S_on
end
end —— Timer_400m_Interval
2800 class
Timer_200m_Interval
field
Tm
state
S_on, S_off
transition
Start is
source
init
2810 destination
S_off
end;
T1 is
source
S_off
input
Tm.i200m_Start
destination
S_on
2820 end;
T2 is
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source
S_on
input
Tm.i200m_Stop
destination
S_off
end;
T3 is
2830 source
S_on
input
Tm.:200m_interval
destination
S_on
end
end —— Timer_200m_Interval
class
2840 Timer_60s_Timeout
field
Tm
state
S_on, S_off
transition
Start is
source
init
destination
2850 S_off
end;
T1 is
source
S_off
input
Tm.o60s_Start
destination
S_on
end;
2860 T2 is

source
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S_on
input
Tm.o60s_Stop
destination
S_off
end;
T3 is
source
2870 S_on
input

Tm.o60s_timeout

destination
S_off
end
end —— Timer_60s_Timeout
class

Timer_1s_Timeout
2880 field
Tm
state
S_on, S_off
transition
Start is
source
init
destination
S_off
2890 end;
T1 is
source
S_off
input
Tm.ols_Start
destination
S_on
end;
T2 is
2900 source
S_on
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input
Tm.ols_Stop
destination
S_off
end;
T3 is
source
S_on
2910 input
Tm.ols_timeout
destination
S_off
end
end —— Timer_1s_Timeout
class
Timer_Control
inner
2920 timer_ctrl_children : {
tm_400m_ctrl : Timer_400m_Interval,;
tm_200m_ctrl : Timer_200m_Interval,
tm_60s_ctrl : Timer_60s_Timeout;
tm_I1s_ctrl : Timer_1s_Timeout
}
transition
Start is
source
init
2930 destination
timer_ctrl_children
end
end —— Timer_Control
class
Key_Interface
field
Key, Ms
state
2940 S1, §2

transition
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Start is
source
init
destination
51
end;
T10 is
source
2950 51
input
Key.In
when
Key.In.ScanCode = 10
destination
51
output
Key.Clear
end;
2960 T11 is
source
S1
input
Key.In
when
Key.In.ScanCode = 11
destination
51
output
2970 Key.Reset
end;
Ti2 is
source
S1
input
Key.In
when
Key.In.ScanCode = 12
destination
2980 51
output
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Key.Start
end;
T13 is
source
51
input
Key.In
when
2990 Key.In.ScanCode = 13
destination
51
output
Key.Stop
end;
T1} is
source
51
input
3000 Key.In
when
Key.In.ScanCode = 14
destination
51
output
Key.Select
end;
Tn is
source
3010 S1
input
Key.In
when
( Key.In.code = 0 or Key.In.code > 0 )
and
( Key.In.code = 9 or Key.In.code < 9 )
do
Key.Number.code = Key.In.code
destination
3020 51
output
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Key. Number

end;
Td is
source
51
input
Ms.Jam
destination
3030 52
end
end —— Key_Interface
class
ComPort_Interface
field
Cm, —— ComPort_Field
Pp, —— PhysicalPort_Field
Tm, —— Timer_Field
3040 Ms  —— LCD_Field
state

S_ready, S_wait, S_nak, S_timeout
transition
Start is
source
init
destination
S_ready
end;
3050 T1 is
source
S_ready
input
Cm.Send
do
—— 0JO00D0O000DOOo0oOoooon
Pp.Send.cid := Cm.Send.cid;
Pp.Send.cid := Cm.Send.clen;
Pp.Send.param?2 := Cm.Send.param2;
3060 Pp.Send.param3 := Cm.Send.params;
Pp.Send.param4 = Cm.Send.param4
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3070

3080

3090

3100

destination
S_wait
output
—— 0000
—— JO000O000ooooooooog
{ Pp.Send, Tm.ols_Start }

end;
T2 is
source
S_wait
input
—— 0Ooooobono
Pp.Ack
do
—— JO00OD0OO0O00DO0OO0OobODooooo
Cm.Ack.rid = Pp.Ack.rid;
Cm.Ack.rlen := Pp.Ack.rlen;
Cm.Ack.param2 = Pp.Ack.param2;
Cm.Ack.param8 = Pp.Ack.params;
Cm.Ack.param/ = Pp.Ack.paramy;
Cm.Ack.paraméb = Pp.Ack.param5;
Cm.Ack.param6 = Pp.Ack.paramé
destination
S_ready
output
—— Ack OO0ODOOOOOODODO
—— 0000OO000O00oOooood
{ Cm.Ack, Tm.ols_Stop }
end;
T3 is
source
S_wait
input
—— 0O00ooooono
Pp.Nak
do
—— Nek O0ODDOOOO
Ms.Nak.info := Pp.Nak.param2
destination

S_nak
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output
—— Nek OOOOO0O0O ( debugd )
—— 0000OO000O00oOooood
{ Ms.Nak, Tm.ols_Stop }
end;
T4 is
source
S_wait
3110 input
—— 00000000 DOOOn
Tm.ols
destination
S_timeout
output
—— 00000000 000000 ( debugO )
—— 0000OO00oOooooooogd
{ Ms.Timeout, Tm.ols_Stop }
end
3120 end —— ComPort_Interface

class
Message_LCD
field
Ms
attribute
message : String;
nak_code : Int
state
3130 S1
transition
Start is
source
init
do
message = "D OO0 Q000 OOOOooOoT,
nak_code := 0
destination
S1
3140 end;
T1 is
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source
S1
input
Ms. Wait
do
message = "OOQO0O0O0ooooooan
destination
51
3150 end;
T2 is
source
51
input
Ms.Standby
do
message = "Qogooogogn
destination
S1
3160 end;
T3 is
source
51
input
Ms. Copy
do
message = " QOO0 O0O00OOQO0O"
destination
S1
3170 end;
T4 is
source
51
input
Ms.Stop
do
message = "o oggoooaon
destination
S1
3180 end;
T5 is
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source
S1
input
Ms.Reset
do
message = "OQOoodogooooogon
destination
51
3190 end;
T6 is
source
51
input
Ms.Empty
do
message = "QQOQgoogooon
destination
S1
3200 end;
T7 is
source
51
input
Ms.Range
do
message = "UO0OO0O0Oodes O™
destination
S1
3210 end;
T8 is
source
51
input
Ms. Restart
do
message = " OO0 O0O0OOOOOOO"
destination
51
3220 end;
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T91 is
source
51
input
3230 Ms.Nak
do
message = "NAK OJOOOO"™
nak_code := Ms.Nak.info
destination
S1
end;
T92 is
source
S1
3240 input
Ms. Timeout
do
message = "OOoOoodogoooooOn
destination
51
end;
T93 is
source
51
3250 input
Ms. 111State
do
message = "OOQO0OoooooooOon
destination
51
end

end —— Message_LCD

#define PSIZE_A4 0x24
3260 #define PSIZE B/ 0x14
#define PSIZE_A4R  0x2C
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#define PSIZE_A3 0x23
class
PaperSelect_LCD
field
Ms
state
51
3270 attribute
top : String;
middle . String;
bottom : String;

current : String

transition
Start is
source
init
do
3280 top = M=
middle (= "---":
bottom = "---":
current := "Top "
destination
51
end;
T1 is
source
S1
3290 input
Ms. Size
do
top = if ( Ms.Size.top = PSIZE_AJ )
then "A4 "
else (if ( Ms.Size.top = PSIZE_Bj )
then "B4 "
else (if ( Ms.Size.top = PSIZE_AR )
then "A4R"
else ( if ( Ms.Size.top = PSIZE_A3 )
3300 then "A3 "
else "---")));
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middle = if ( Ms.Size.middle = PSIZE_A4 )

then "A4 "
else ((if ( Ms.Size.middle = PSIZE_Bj )
then "B4 "
else (if ( Ms.Size.middle = PSIZE_A4R )
then "A4R"
else ( if ( Ms.Size.middle = PSIZE_A3 )
then "A3 "
3310 else "---")));
bottom = if ( Ms.Size.botiom = PSIZE_A4 )
then "A4 "
else (if ( Ms.Size.bottom = PSIZE_Bj )
then "B4 "
else ( if ( Ms.Size.bottom = PSIZE_A/R )
then "A4R"
else ( if ( Ms.Size.bottom = PSIZE_A3 )
then "A3 "
else "---")))
3320 destination
S1
end
T2 is
source
S1
input
Ms.Select
do
current = if ( Ms.Select.current = 1)
3330 then "Top "
else ( if ( Ms.Select.current = 2 )
then "Middle"
else (if ( Ms.Select.current = 3 )
then "Bottom"
else "-————- ")
destination
S1
end

end —— PaperSelect_LCD
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PaperCount_LCD
field
Ms
state
51
attribute
count : Int
transition
3350 Start is
source
init
do
count = 1
destination
S1
end;
T2 is
source
3360 51
input
Ms. Count
do
count := Ms.Count.counter
destination
51
end

end —— PaperCount_LCD

3370 class
Jam_LCD
field
Ms
state
51, 52
attribute

message . String;

posl : Int;

pos2 : Int;

3380 pos3 : Int
transition
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Start is
source
init
destination
51
end;
T1 is
source
3390 51
input
Ms.Jam
do
message = "OOQO0OO0Q0oOOooOm,
posl = Ms.Jam.posi;
pos2 = Ms.Jam.pos2;
pos3 = Ms.Jam.pos3
destination
52
3400 end
end —— Jam_LCD
class
LCD_Interface
field
St
inner
led_if child = {
mess_led : Message_LCD,;
3410 psel_led : PaperSelect_LCD:;
pent_led @ PaperCount_LCD;
jam_led . Jam_LCD
}
transition
Start is
source
init
destination
led_if child
3420 end
end —— LCD_Interface
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class
Operation_Panel
inner
panel_children : {
copy_ctrl : Copy_Control;
status_ctrl : Status_Control;
timer_ctrl : Timer_Control;
3430 key_if : Key_Interface;
led_if : LCD_Interface;
comport_if : ComPort_Interface;
cur_settings : Current_Settings;
def_settings : Default_Settings
}
transition
Start is
source
init
3440 destination
panel_children
end

end —— Operation_Panel

object
op_panel : Operation_Panel
3450 transition
Start is
source
init
destination
op_panel
end
end —— Sys

250



10

20

1 F [

ot CP-KT1 0yt tn

ObML U 0O

gobbtdd E0boooddgd Cp-KT1 OO0 obCL OUOOooononon

ObML DOUO OO QYU

(* output type for SML/NJ version 110 x*)
datatype Attribute_type =
Int of nt
| String of string
| Null_of Attr;
(*
fun eqCommon (Int a) (Int b) = (a=b)
| eqCommon (String a) (String b) = (a=b)
| eqCommon Null_of_Attr Null_of_Attr = true;
fun ppAttrVal (Int n) = Int.toString n
| ppAttrVal (String s) = “\”% ~ s =~ 7\«
| ppAttrVal Null_of_Attr = “Null”;
*)
(* cat obts8-110.sml *)
(* ObTS Simulator for SML/NJ 109.% *)

(* System.Print.printDepth = 10; *)
use “typedef.sml”;

use “attrtype-110.sml”;

use “tools.sml”;
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50

60

use “main.sml”;

use “pp.sml”;

(%

use "sample.sml";

*)

(* Sys_op_panel_timer_ctri_tm_{00m_ctrl *)
fun Sys_op_panel_timer_ctrl_tm_400m_ctrl (Name _ _ _) = (Name ]

[(“Sys_op_panel_timer_ctrl_tm_400m_ctr]” [])])
| Sys_op_panel_timer_ctrl_tm_400m_ctrl (Initial a e env) =
(State “S_off” a [])
| Sys_op_panel_timer_ctrl_tm_400m_ctrl (State “S_on” a € env)
if (memberEv “Tm.i400m_Stop” e) then
(State “S_oft” a [])
else if (memberEv “Tm.i400m_interval” e) then
(State “S_on” a [])
else
(Nl ][]
| Sys_op_panel_timer_ctrl_tm_400m_ctrl (State “S_off” a e env)
if (memberEv “Tm.i400m_Start” e) then
(State “S_on” a [])
else
(Nl ][]
| Sys_op_panel_timer_ctrl_tm_400m_ctrl (- - - _) = (Null [] []);
(% Sys_op_panel_timer_ctrl_tm_200m_ctrl x*)
fun Sys_op_panel_timer_ctrl_tm_200m_ctrl (Name _ _ _) = (Name |]
[(“Sys_op_panel_timer_ctrl_tm_200m_ctrl” [])])
| Sys_op_panel_timer_ctrl_tm_200m_ctrl (Initial a e env) =
(State “S_off” a [])
| Sys_op_panel_timer_ctrl_tm_200m_ctrl (State “S_on” a e env) =
if (memberEv “Tm.i200m_Stop” €) then
(State “S_off” a [])
else if (memberEv “Tm.i200m_interval” e) then
(State “S_on” a [])
else
(Nl ][]
| Sys_op_panel_timer_ctrl_tm_200m_ctr] (State “S_off” a e env) =
if (memberEv “Tm.i200m_Start” e) then
(State “S_on” a [])

else
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(Null [][])

| Sys_op_panel_timer_ctrl_tm_200m_ctrl (- - _ _) = (Null [] []);
(* Sys_op_panel_timer_ctri_tm_60s_ctrl *)
fun Sys_op_panel_timer_ctrl_tm_60s_ctrl (Name _ _ _) = (Name []
[(“Sys_op_panel_timer_ctrl_tm_60s_ctrl” [])])
| Sys_op_panel_timer_ctrl_tm_60s_ctrl (Initial a e env) =
(State “S_off” a [])
| Sys_op_panel_timer_ctrl_tm_60s_ctrl (State “S_on” a e env) =
70 if (memberEv “Tm.o60s_Stop” e) then
(State “S_off” a [])
else if (memberEv “Tm.o60s_timeout” €) then
(State “S_oft” a [])
else
(Null ][]
| Sys_op-_panel_timer_ctrl_tm_60s_ctrl (State “S_off” a e env) =
if (memberEv “Tm.o60s_Start” e) then
(State “S_on” a [])
else
w0 (Nl [] []
| Sys_op_panel_timer_ctrl_tm_60s_ctrl (- - - _) = (Null [] []);
(* Sys_op_panel_timer_ctrl_tm_Is_ctrl *)
fun Sys_op_panel_timer_ctrl_tm_1s_ctrl (Name _ _ _) = (Name []
[(“Sys_op_panel_timer_ctrl_tm_1s_ctrl” [])])
| Sys_op_panel_timer_ctrl_tm_1s_ctrl (Initial a € env) =
(State “S_off” a [])
| Sys_op_panel_timer_ctrl_tm_1s_ctrl (State “S_on” a e env) =
if (memberEv “Tm.ols_Stop” e) then
(State “S_oft” a [])
90 else if (memberEv “Tm.ols_timeout” e) then
(State “S_off” a [])
else
(Null [ []
| Sys_op_panel_timer_ctrl_tm_1s_ctrl (State “S_off” a e env) =
if (memberEv “Tm.ols_Start” e) then
(State “S_on” a [])
else
(Nl ][]
| Sys_op_panel_timer_ctrl_tm_1s_ctrl (- - _ _) = (Null [] []);
100 (x Sys_op_panel led_if mess_lcd *)
fun Sys_op_panel_led_if_mess_lcd (Name _ _ _) = (Name []
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[(“Sys_op_panel_lcd_if_mess_led” [])])
| Sys_op_panel_lcd_if_mess_lcd (Initial a e env) =
(State “S1” changeAttr “message” (String “000000000000O)
(changeAttr “nak_code” (Int 0) a) [])
| Sys_op_panel_lcd_if_mess_lcd (State “S1” a e env) =
if (memberEv “Ms.Wait” €) then
(State “S1” changeAttr “message” (String “00000000000D) a[])
else if (memberEv “Ms.Standby” e) then
110 (State “S1” changeAttr “message” (String “0000000D) a[])
else if (memberEv “Ms.Copy” e) then
(State “S1” changeAttr “message” (String “00000000DO) a(])
else if (memberEv “Ms.Stop” e) then
(State “S1” changeAttr “message” (String “00000000) a|])
else if (memberEv “Ms.Reset” e) then
(State “S1” changeAttr “message” (String “000000000OD) a[])
else if (memberEv “Ms.Empty” e) then
(State “S1” changeAttr “message” (String “00000000D) a[])
else if (memberEv “Ms.Range” e) then
120 (State “S1” changeAttr “message” (String “000000 0099000) a[])
else if (memberEv “Ms.Restart” e) then
(State “S1” changeAttr “message” (String “0000000000000O) al(])
else if (memberEv “Ms.Nak” e) then
(State “S1” changeAttr “message” (String “NAK 000 O7) (changeAttr
“nak_code” ((eventAttr “Ms.Nak” “info” €)) a) [])
else if (memberEv “Ms.Timeout” e) then
(State “S1” changeAttr “message” (String “00 000000000 ) a[])
else if (memberEv “Ms.IlIState” e) then
(State “S1” changeAttr “message” (String “0000000000D) al[])
130 else
(Nl ][]
| Sys_op_panel_led_if_mess_led (- - _ _) = (Null [] []);
(* Sys_op_panel_lcd_if psel_led *)
fun Sys_op_panel_lcd_if_psel led (Name _ _ _) = (Name []
[(“Sys_op_panel_lcd _if_psel_lcd” [])])
| Sys_op_panel_lcd_if_psel_lcd (Initial a e env) =
(State “S1” changeAttr “top” (String “—") (changeAttr “middle” (String “—”)
(changeAttr “bottom” (String “—”) (changeAttr “current” (String “Top ”) a)))
[1)
140 | Sys_op_panel_lcd_if_psel_lcd (State “S1” a e env) =
if (memberEv “Ms.Size” e) then
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(State “S1” changeAttr “top” (if ((eventAttr “Ms.Size” “top” e)=Int 36) then
String “A4 7 else (if ((eventAttr “Ms.Size” “top” e)=Int 20) then String “B4 ” else
(if ((eventAttr “Ms.Size” “top” e)=Int 44) then String “A4R” else (if ((eventAttr
“Ms.Size” “top” e)=Int 35) then String “A3 ” else String “—”)))) (changeAttr
“middle” (if ((eventAttr “Ms.Size” “middle” e)=Int 36) then String “A4 ” else (if
((eventAttr “Ms.Size” “middle” e)=Int 20) then String “B4 ” else (if ((eventAttr
“Ms.Size” “middle” e)=Int 44) then String “A4R” else (if ((eventAttr “Ms.Size”
“middle” e)=Int 35) then String “A3 ” else String “—")))) (changeAttr “bottom”
150 (if ((eventAttr “Ms.Size” “bottom” e)=Int 36) then String “A4 ” else (if
((eventAttr “Ms.Size” “bottom” e)=Int 20) then String “B4 ” else (if ((eventAttr
“Ms.Size” “bottom” e)=Int 44) then String “A4R” else (if ((eventAttr “Ms.Size”
“bottom” e)=Int 35) then String “A3 ” else String “—”)))) a)) [])
else if (memberEv “Ms.Select” €) then
(State “S1” changeAttr “current” (if ((eventAttr “Ms.Select” “current” e)=Int
1) then String “Top ” else (if ((eventAttr “Ms.Select” “current” e)=Int 2) then
String “Middle” else (if ((eventAttr “Ms.Select” “current” e)=Int 3) then String
“Bottom” else String “—"))) a [])
else
160 (Null [] D)
| Sys_op_panel_led_if_psel_led (- - - _) = (Null [] []);
(* Sys_op_panel led_if pent_led *)
fun Sys_op_panel_lcd_if_pcnt_led (Name _ - _) = (Name []
[(“Sys_op_panel_led_if_pent_led” [])])
| Sys_op_panel_lcd_if_pcnt_lcd (Initial a e env) =
(State “S1” changeAttr “count” (Int 1) a [])
| Sys_op_panel_lcd_if_pent_lcd (State “S1” a e env) =
if (memberEv “Ms.Count” e) then
(State “S1” changeAttr “count” ((eventAttr “Ms.Count” “counter” e)) a [])
170 else
(Nl [] []
| Sys_op_panel_lcd_if_pent_led (- - = _) = (Null [] []);
(* Sys_op_panel_lcd_if jam_lcd *)
fun Sys_op_panel_lcd_if_jam_lcd (Name _ _ _) = (Name ]
[(“Sys_op_panel_lcd_if_jam_lcd” [])])
| Sys_op_panel_led_if_jam_led (Initial a e env) =
(State “S1” a [])
| Sys_op_panel_lcd_if_jam_lcd (State “S1” a e env) =
if (memberEv “Ms.Jam” e) then
180 (State “S2” changeAttr “message” (String “00000 0000 ) (changeAttr
“posl” ((eventAttr “Ms.Jam” “posl” e)) (changeAttr “pos2” ((eventAttr “Ms.Jam”
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“pos2” e)) (changeAttr “pos3” ((eventAttr “Ms.Jam” “pos3” e)) a))) [])
else
(Nl [ []
| Sys_op_panel_led_if jam_led (- - - _) = (Null [] []);
(* Sys_op_panel_copy_ctrl *)
fun Sys_op_panel_copy_ctrl (Name _ _ _) = (Name [] [(“Sys_op_panel_copy_ctrl”
[DD)
| Sys_op_panel_copy_ctrl (Initial a e env) =
190 (State “S_ready” changeAttr “key_input_start_flag” (Int 0) a [])
| Sys_op_panel_copy_ctrl (State “S_ready” a e env) =
if (memberEv “Si.DefaultChange” €) then
(State “S_ready” changeAttr “default_paper_count” ((eventAttr
“Si.DefaultChange” “paper_count” €)) (changeAttr
“default_paper_select_position” ((eventAttr “Si.DefaultChange”
“paper_select_position” €)) (changeAttr “current_paper_count” ((eventAttr
“Si.DefaultChange” “paper_count” €)) (changeAttr
“current_paper_select_position” ((eventAttr “Si.DefaultChange”
“paper_select_position” e)) a))) [])
200 else if (memberEv “Si.CurrentChange” e) then
(State “S_ready” changeAttr “current_paper_count” ((eventAttr

W«

“Si.CurrentChange” “paper_count” e)) (changeAttr
“current_paper_select_position” ((eventAttr “Si.CurrentChange”
“paper_select_position” €)) a) [])
else if (memberEv “St.Standby” e) then
(State “S_ready” a [(“Tm.o60s_Start” []) (“Ms.Count” [(“counter” (pickupAttr
“current_paper_count” a))]) (“Ms.Select” [(“current” (pickupAttr
“current_paper_select_position” a))])])
else if (memberEv “Key.Select” €) then
210 (State “S_select” a [(“Cm.Send” [(“cid” Int 66) (“clen” Int 0)]) (“Tm.060s_Stop”
(DD
else if (memberEv “Key.Reset” e) orelse (memberEv “Tm.o60s” €) then
(State “S_reset” a [(“Cm.Send” [(“cid” Int 160) (“clen” Int 0)]) (“Tm.o60s_Stop”
[DD)
else if (memberEv “Key.Start” e) then
(State “S_startl” a [(“Tm.060s_Stop” []) (“Cm.Send” [(“cid” Int 33) (“clen” Int
2) (“param?2” (pickupAttr “current_paper_count” a)) (“param3” (pickupAttr
“current_paper_select_position” a))])])
else

220 (Null ][]
| Sys_op_panel_copy_ctrl (State “S_copy” a e env) =
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if (memberEv “St.Standby” e) then
(State “S_ready” a [(“Tm.o60s_Start” []) (“Ms.Count” [(“counter” (pickupAttr
“current_paper_count” a))]) (“Ms.Select” [(“current” (pickupAttr
“current_paper_select_position” a))])])
else if (memberEv “Key.Stop” €) then
(State “S_stopl” a [(“Cm.Send” [(“cid” Int 50) (“clen” Int 0)])])
else if (memberEv “St.Copy_Empty” €) then
(State “S_emptyl” a [])
230 else
(Nl [ []
| Sys_op_panel_copy_ctrl (State “S_startl” a e env) =
if (memberEv “Cm.Ack” €) then
(State “S_start2” a [(“Cm.Send” [(“cid” Int 49) (“clen” Int 0)])])
else
(Null [ []
| Sys_op_panel_copy_ctrl (State “S_start2” a e env) =
if (memberEv “Cm.Ack” €) then
(State “S_copy” a [])
240 else
(Null [ []
| Sys_op_panel_copy_ctrl (State “S_stopl” a e env) =
if (memberEv “Cm.Ack” e) then
(State “S_stop2” a [])
else
(Nl ][]
| Sys_op_panel_copy_ctrl (State “S_stop2” a e env) =
if (memberEv “St.Standby” e) then
(State “S_ready” a [(“Tm.o60s_Start” []) (“Ms.Count” [(“counter” (pickupAttr
250 “current_paper_count” a))]) (“Ms.Select” [(“current” (pickupAttr
“current_paper_select_position” a))])])
else
(Nl [] []
| Sys_op_panel_copy_ctrl (State “S_emptyl” a e env) =
if (memberEv “Key.Stop” e) then
(State “S_stopl” a [(“Cm.Send” [(“cid” Int 50) (“clen” Int 0)])])
else if (memberEv “St.Restart” ) then
(State “S_empty2” a [])
else
260 (Null ][]
| Sys_op_panel_copy_ctrl (State “S_empty2” a e env) =
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270

280

if (memberEv “St.Copy_Empty” e) then

(State “S_emptyl” a [])
else if (memberEv “Key.Stop” e) then

(State “S_stopl” a [(“Cm.Send” [(“cid” Int 50) (“clen” Int 0)])])
else if (memberEv “Key.Start” e) then

(State “S_copy” a [(“Cm.Send” [(“cid” Int 49) (“clen” Int 0)])])

else

(Null [][])

| Sys_op_panel_copy_ctrl (State “S_reset” a e env) =

if (memberEv “Cm.Ack” e) then

(State “S_reset” a [])
else if (memberEv “St.Standby” e) then

(State “S_ready” changeAttr “current_paper_count” ((pickupAttr
“default_paper_count” a)) (changeAttr “current_paper_select_position”
((pickupAttr “default_paper_select_position” a)) a) [(“Tm.o60s_Start” [])
(“Ms.Count” []) (“Ms.Select” [])])

else

(Null [} 1)

| Sys_op_panel_copy_ctrl (State “S_select” a e env) =

if (memberEv “Cm.Ack” e) then

(State “S_ready” changeAttr “current_paper_select_position” ((eventAttr

“Cm.Ack” “param?” e)) a [(“Tm.o60s_Start” []) (“Ms.Count” [(“counter”
(pickupAttr “current_paper_count” a))]) (“Ms.Select” [(“current” (eventAttr
“Cm.Ack” “param2” e))])])

else

(Null [} 1)

| Sys_op_panel_copy_ctrl (- - - _) = (Null [] []);
(* Sys_op_panel_status_ctrl *)

290 fun Sys_op_panel_status_ctrl (Name _ _ _) = (Name []

300

[( “Sys_op_panel_status_ctrl” [ ])] )

| Sys_op_panel_status_ctrl (Initial a e env) =

(State “S_ready” changeAttr “copy_status_old” (Int 0) (changeAttr
“copy_sub_status_old” (Int 0) (changeAttr “tray_top_old” (Int 255)
(changeAttr “tray_middle_old” (Int 255) (changeAttr “tray_bottom_old” (Int
255) (changeAttr “default_paper_count” (Int 1) (changeAttr
“default_paper_select_position” (Int 1) (changeAttr “current_paper_count”
(Int 1) (changeAttr “current_paper_select_position” (Int 1) a))))))))
[(“Tm.i1400m_Start” [])])

| Sys_op_panel_status_ctrl (State “S_ready” a e env) =

if (memberEv “Tm.i200m” e) then
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(State “S_wait_copy_count” a [(“Cm.Send” [(“cid” Int 65) (“clen” Int 0)])])
else if (memberEv “Si.DefaultChange” e) then

(State “S_ready” changeAttr “default_paper_count” ((eventAttr
“Si.DefaultChange” “paper_count” €)) (changeAttr
“default_paper_select_position” ((eventAttr “Si.DefaultChange”
“paper_select_position” €)) (changeAttr “current_paper_count” ((eventAttr
“Si.DefaultChange” “paper_count” €)) (changeAttr
“current_paper_select_position” ((eventAttr “Si.DefaultChange”

310 “paper_select_position” e)) a))) [])

else if (memberEv “Si.CurrentChange” €) andalso ((eventAttr

» W

“Si.CurrentChange” “paper_count” e)=Int 0) then

(State “S_ready” changeAttr “current_paper_count” ((eventAttr

» W

“Si.CurrentChange” “paper_count” €)) (changeAttr
“current_paper_select_position” ((eventAttr “Si.CurrentChange”
“paper_select_position” e)) a) [])
else if (memberEv “Si.CurrentChange” e) andalso ((pickupAttr
“copy_status_old” a)=Int 1 andalso (eventAttr “Si.CurrentChange”
“paper_count” e)<>Int 0) then

320 (State “S_ready” changeAttr “current_paper_count” ((eventAttr

o«

“Si.CurrentChange” “paper_count” €)) (changeAttr
“current_paper_select_position” ((eventAttr “Si.CurrentChange”
“paper_select_position” e)) a) [])
else if (memberEv “Si.CurrentChange” e) andalso ((pickupAttr
“copy_status_old” a)=Int 2 andalso (eventAttr “Si.CurrentChange”
“paper_count” e)<>Int 0) then

(State “S_ready” changeAttr “current_paper_count” ((eventAttr

o«

“Si.CurrentChange” “paper_count” €)) (changeAttr
“current_paper_select_position” ((eventAttr “Si.CurrentChange”
330 “paper_select_position” €)) a) [])
else if (memberEv “Tm.i400m” e) then
(State “S_wait_status” a [(“Cm.Send” [(“cid” Int 17) (“clen” Int 0)])])
else
(Null ][]
| Sys_op_panel_status_ctrl (State “S_wait_status” a e env) =
if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 1 andalso
(pickupAttr “copy_status_old” a)<>Int 1) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)=Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
340 orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
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350

360

370

380

then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e€)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Wait” [])
(“Ms.Empty” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle”
(eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6”
)
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)<>Int 1) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)<>Int
128) andalso ((pickupAttr “current_paper_count” a)=Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr
“Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr
“Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Wait” [])
(“Ms.Range” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle”
(eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6”
)
else if (memberEv “Cm.Ack” e) andalso ({((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)<>Int 1) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)<>Int
128) andalso ((pickupAttr “current_paper_count” a)<>Int 0) andalso
((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse
(eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse
(eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” €)) a)))) [(“St.Wait” [])
(“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr
“Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
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390

400

410

420

“param3” e)=Int 128) andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr
“tray_top_old” a) orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr
“tray_middle_old” a) orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr
“tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” €)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Wait” [])
(“Ms.Empty” []) (“Tm.i200m_Stop” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack”
“param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” €)) (“bottom” (eventAttr
“Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128) andalso ((pickupAttr “current_paper_count” a)=Int 0)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” €)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” €)) a)))) [(“St.Wait” [])
(“Ms.Range” []) (“Tm.i200m_Stop” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack”
“paramd4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr
“Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128) andalso ((pickupAttr “current_paper_count” a)<>Int 0)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Wait” [])
(“Ms.Wait” []) (“Tm.i200m_Stop” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack”
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“param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” €)) (“bottom” (eventAttr
“Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_sub_status_old” a)<>Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” €)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
430 then
(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” €)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Empty” [])
(“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr
“Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
440 “param3” €)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((pickupAttr “current_paper_count” a)=Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr
“Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr
“Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then
(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Range” [])
450 (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr
“Cm.Ack” “param5” e)) (“bottom” (eventAttr “Cm.Ack” “param6” ¢))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((pickupAttr “current_paper_count” a)<>Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr
“Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr
“Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then
(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
460 e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
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470

480

490

500

“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Wait” [])
(“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr
“Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Size” [(“top”
(eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” e))
(“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)<>Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Size” [(“top”
(eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” e))
(“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)<>Int 2) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)=Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
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510

520

530

540

e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Standby” [])
(“Ms.Empty” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle”
(eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6”
)
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)<>Int 2) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)<>Int
128) andalso ((pickupAttr “current_paper_count” a)=Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr
“Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr
“Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” €)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Standby” [])
(“Ms.Range” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle”
(eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6”
)
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)<>Int 2) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)<>Int
128) andalso ((pickupAttr “current_paper_count” a)<>Int 0) andalso
((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse
(eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse
(eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Standby” [])
(“Ms.Standby” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e))
(“middle” (eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack”
“param6” ¢)))]
else if (memberEv “Cm.Ack” ¢) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128) andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr
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550

560

570

580

“tray_top_old” a) orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr
“tray_middle_old” a) orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr
“tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e€)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Standby” [])
(“Ms.Empty” []) (“Tm.i200m_Stop” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack”
“param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr
“Cm.Ack” “param6” €))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128) andalso ((pickupAttr “current_paper_count” a)=Int 0)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Standby” [])
(“Ms.Range” []) (“Tm.i200m_Stop” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack”
“param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” €)) (“bottom” (eventAttr
“Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” €)<>Int 128) andalso ((pickupAttr “current_paper_count” a)<>Int 0)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” €)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” €)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Standby” [])
(“Ms.Standby” []) (“Tm.i200m_Stop” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack”
“param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” €)) (“bottom” (eventAttr
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“Cm.Ack” “param6” €))])])
else if (memberEv “Cm.Ack” ¢) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_sub_status_old” a)<>Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

590 (State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” €)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” €)) a)))) [(“Ms.Empty” [])
(“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr
“Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)

600 andalso ((pickupAttr “current_paper_count” a)=Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr
“Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr
“Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”

e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Range” [])
(“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr

610 “Cm.Ack” “paramb” €)) (“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((pickupAttr “current_paper_count” a)<>Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr
“Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr
“Cm.Ack” “param6b” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”

e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))

620 (changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
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630

640

650

660

“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Standby” [])
(“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr
“Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Size” [(“top”
(eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” e))
(“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)<>Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a)
orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a)
orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” €)) a)))) [(“Ms.Size” [(“top”
(eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” e))
(“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 4
andalso (pickupAttr “copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 7) andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr
“tray_top_old” a) orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr
“tray_middle_old” a) orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr
“tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
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670

680

690

700

“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Copy” [])
(“Tm.i200m_Start” []) (“Ms.Copy” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack”
“paramd4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr
“Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 4
andalso (pickupAttr “copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 8) andalso ((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr
“tray_top_old” a) orelse (eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr
“tray_middle_old” a) orelse (eventAttr “Cm.Ack” “param6” e)<>(pickupAttr
“tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Copy” [])
(“Tm.i200m_Start” []) (“Ms.Stop” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack”
“param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” €)) (“bottom” (eventAttr
“Cm.Ack” “param6” €))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 4
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 7 andalso (pickupAttr “copy_sub_status_old” a)<>Int 7) andalso
((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse
(eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse
(eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Copy” [])
(“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” €)) (“middle” (eventAttr
“Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 4
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 8 andalso (pickupAttr “copy_sub_status_old” a)<>Int 8) andalso
((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse
(eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse
(eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
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(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Stop” [])
(“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr
“Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6” €))])])
else if (memberEv “Cm.Ack” ) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 8
andalso (pickupAttr “copy_status_old” a)<>Int 8) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param4”
e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr “Cm.Ack” “param5”
e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr “Cm.Ack” “param6”
e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
[(“St.Jam” []) (“Ms.Jam” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 8
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr “Cm.Ack”
“paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr “Cm.Ack”
“param6” €)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Jam” []) (“Ms.Jam” []) (“Tm.i200m_Stop” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 8
andalso (pickupAttr “copy_status_old” a)=Int 8) andalso ((eventAttr “Cm.Ack”
“param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr “Cm.Ack”
“paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr “Cm.Ack”
“param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a) [])
else if (memberEv “Cm.Ack” ) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)<>Int 20) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param4”
e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr “Cm.Ack” “paramb”
e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr “Cm.Ack” “param6”
e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Copy_Empty”
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[ (“Ms.Empty” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “paramd” e))
(“middle” (eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack”
“param6” e))])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr “Cm.Ack”
“paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr “Cm.Ack”
“param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” €)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Copy_Empty”
[ (“Ms.Empty” []) (“Tm.i200m_Stop” []) (“Ms.Size” [(“top” (eventAttr
“Cm.Ack” “param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” €)) (“bottom”
(eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)=Int 20) andalso ((eventAttr “Cm.Ack”
“param3” €)=Int 128 andalso (pickupAttr “copy_status_old” a)=Int 128) andalso
((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse
(eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse
(eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Size” [(“top”
(eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” e))
(“bottom” (eventAttr “Cm.Ack” “param6” €))])])
else if (memberEv “Cm.Ack” ) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)=Int 20) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_status_old” a)=Int 128) andalso
((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse
(eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse
(eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “paramd4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Restart” [])
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(“Ms.Restart” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e))
(“middle” (eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack”
“param6” e))])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)=Int 20) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_status_old” a)<>Int 128) andalso
((eventAttr “Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse
(eventAttr “Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse
(eventAttr “Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” €)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“St.Copy_Empty”
[1) (“Ms.Empty” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e))
(“middle” (eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack”
“param6” e))]))
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)<>Int 1) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)=Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “param5” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Wait” []) (“Ms.Empty” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)<>Int 1) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)<>Int
128) andalso ((pickupAttr “current_paper_count” a)=Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr
“Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr
“Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a)
[(“St.Wait” []) (“Ms.Range” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)<>Int 1) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)<>Int
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128) andalso ((pickupAttr “current_paper_count” a)<>Int 0) andalso
((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso
(eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso
(eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
(8t Wait” []))
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128) andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr
“tray_top_old” a) andalso (eventAttr “Cm.Ack” “paramb” e)=(pickupAttr
“tray_middle_old” a) andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr
“tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Wait” []) (“Ms.Empty” []) (“Tm.i200m_Stop” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” €)<>Int 128) andalso ((pickupAttr “current_paper_count” a)=Int 0)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “param5” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
[(“St.Wait” []) (“Ms.Range” []) (“Tm.i200m_Stop” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” €)<>Int 128) andalso ((pickupAttr “current_paper_count” a)<>Int 0)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “param5” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
[(“St.Wait” []) (“Ms.Wait” []) (“Tm.i200m_Stop” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_sub_status_old” a)<>Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
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andalso (eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a)
[(“Ms.Empty” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((pickupAttr “current_paper_count” a)=Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr
“Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr
“Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“Ms.Range” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
“param3” €)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((pickupAttr “current_paper_count” a)<>Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr
“Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr
“Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
[(Ms. Wait” []))
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
“param3” €)=Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “param5” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a) [])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 1
andalso (pickupAttr “copy_status_old” a)=Int 1) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)<>Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a)
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andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a) [])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)<>Int 2) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)=Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “paramb5” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
[(“St.Standby” []) (“Ms.Empty” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)<>Int 2) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)<>Int
128) andalso ((pickupAttr “current_paper_count” a)=Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr
“Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr
“Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
[(“St.Standby” []) (“Ms.Range” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)<>Int 2) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param3” e)<>Int
128) andalso ((pickupAttr “current_paper_count” a)<>Int 0) andalso
((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso
(eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso
(eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Standby” []) (“Ms.Standby” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128) andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr
“tray_top_old” a) andalso (eventAttr “Cm.Ack” “paramb” e)=(pickupAttr
“tray_middle_old” a) andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr
“tray_bottom_old” a))) then
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960

970

980

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Standby” []) (“Ms.Empty” []) (“Tm.i200m_Stop” [])])
else if (memberEv “Cm.Ack” ¢) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128) andalso ((pickupAttr “current_paper_count” a)=Int 0)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “param5” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a)
[(“St.Standby” []) (“Ms.Range” []) (“Tm.i200m_Stop” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128) andalso ((pickupAttr “current_paper_count” a)<>Int 0)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Standby” []) (“Ms.Standby” []) (“Tm.i200m_Stop” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_sub_status_old” a)<>Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “param5” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“Ms.Empty” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((pickupAttr “current_paper_count” a)=Int 0) andalso ((eventAttr
“Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr
“Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr
“Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then
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990

1000

1010

1020

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“Ms.Range” [)])
else if (memberEv “Cm.Ack” ¢) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((pickupAttr “current_paper_count” a)<>Int 0) andalso ({eventAttr
“Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr
“Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr
“Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a)
[(“Ms.Standby” [])])
else if (memberEv “Cm.Ack” ¢) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_sub_status_old” a)=Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a) [])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 2
andalso (pickupAttr “copy_status_old” a)=Int 2) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_sub_status_old” a)<>Int 128)
andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a)
andalso (eventAttr “Cm.Ack” “param5” e)=(pickupAttr “tray_middle_old” a)
andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a)))
then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a) [])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 4
andalso (pickupAttr “copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 7) andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr
“tray_top_old” a) andalso (eventAttr “Cm.Ack” “paramb” e)=(pickupAttr
“tray_middle_old” a) andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr
“tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Copy” []) (“Tm.i200m_Start” []) (“Ms.Copy” [])])
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1030

1040

1050

1060

else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 4
andalso (pickupAttr “copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 8) andalso ((eventAttr “Cm.Ack” “param4” e)=(pickupAttr
“tray_top_old” a) andalso (eventAttr “Cm.Ack” “paramb” e)=(pickupAttr
“tray_middle_old” a) andalso (eventAttr “Cm.Ack” “param6” e)=(pickupAttr
“tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Copy” []) (“Tm.i200m_Start” []) (“Ms.Stop” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 4
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 7 andalso (pickupAttr “copy_sub_status_old” a)<>Int 7) andalso
((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso
(eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso
(eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a)
[(“Ms.Copy” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 4
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 8 andalso (pickupAttr “copy_sub_status_old” a)<>Int 8) andalso
((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso
(eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso
(eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“Ms.Stop” [])])
else if (memberEv “Cm.Ack” ¢) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 8
andalso (pickupAttr “copy_status_old” a)<>Int 8) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param4”
e)=(pickupAttr “tray_top_old” a) andalso (eventAttr “Cm.Ack” “param5”
e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr “Cm.Ack” “param6”
e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
[(“St.Jam” []) (“Ms.Jam” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 8
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr “Cm.Ack”
“paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr “Cm.Ack”
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1080

1090

1100

“param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Jam” []) (“Ms.Jam” []) (“Tm.i200m_Stop” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 8
andalso (pickupAttr “copy_status_old” a)=Int 8) andalso ((eventAttr “Cm.Ack”
“param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr “Cm.Ack”
“paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr “Cm.Ack”
“param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a) [])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)<>Int 20) andalso ((pickupAttr
“copy_status_old” a)<>Int 4) andalso ((eventAttr “Cm.Ack” “param4”
e)=(pickupAttr “tray_top_old” a) andalso (eventAttr “Cm.Ack” “param5”
e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr “Cm.Ack” “param6”
e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a)
[(“St.Copy_Empty” []) (“Ms.Empty” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)=Int 4) andalso ((eventAttr “Cm.Ack”
“param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr “Cm.Ack”
“paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr “Cm.Ack”
“param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Copy_Empty” []) (“Ms.Empty” []) (“Tm.i200m_Stop” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)=Int 20) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_status_old” a)=Int 128) andalso
((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso
(eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso
(eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” €)) a) [])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)=Int 20) andalso ((eventAttr “Cm.Ack”
“param3” e)<>Int 128 andalso (pickupAttr “copy_status_old” a)=Int 128) andalso
((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso
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1110

1120

1130

1140

(eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso
(eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a)
[(“St.Restart” []) (“Ms.Restart” [])])
else if (memberEv “Cm.Ack” e) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 20
andalso (pickupAttr “copy_status_old” a)=Int 20) andalso ((eventAttr “Cm.Ack”
“param3” e)=Int 128 andalso (pickupAttr “copy_status_old” a)<>Int 128) andalso
((eventAttr “Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso
(eventAttr “Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso
(eventAttr “Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
[(*51.Copy_Empty” [1) (“Ms.Bmpty” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param2” e)=Int 255
andalso (pickupAttr “copy_status_old” a)<>Int 255) andalso ((eventAttr
“Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr
“Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr
“Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” €)) a)))) [(“St.Reset” [])
(“Ms.Reset” []) (“Ms.Size” [(“top” (eventAttr “Cm.Ack” “param4” e)) (“middle”
(eventAttr “Cm.Ack” “paramb” e)) (“bottom” (eventAttr “Cm.Ack” “param6”
)
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 255
andalso (pickupAttr “copy_status_old” a)=Int 255) andalso ((eventAttr
“Cm.Ack” “param4” e)<>(pickupAttr “tray_top_old” a) orelse (eventAttr
“Cm.Ack” “paramb” e)<>(pickupAttr “tray_middle_old” a) orelse (eventAttr
“Cm.Ack” “param6” e)<>(pickupAttr “tray_bottom_old” a))) then

(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e))
(changeAttr “tray_top_old” ((eventAttr “Cm.Ack” “param4” e)) (changeAttr
“tray_middle_old” ((eventAttr “Cm.Ack” “paramb” e€)) (changeAttr
“tray_bottom_old” ((eventAttr “Cm.Ack” “param6” e)) a)))) [(“Ms.Size” [(“top”
(eventAttr “Cm.Ack” “param4” e)) (“middle” (eventAttr “Cm.Ack” “paramb” e))
(“bottom” (eventAttr “Cm.Ack” “param6” e))])])
else if (memberEv “Cm.Ack” e) andalso ({(eventAttr “Cm.Ack” “param?2” e)=Int 255
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andalso (pickupAttr “copy_status_old” a)<>Int 255) andalso ((eventAttr
“Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr
“Cm.Ack” “paramb” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr
“Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then
(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e€)) a)
[(“St.Reset” []) (“Ms.Reset” [])])
else if (memberEv “Cm.Ack” €) andalso (((eventAttr “Cm.Ack” “param?2” e)=Int 255
1150 andalso (pickupAttr “copy_status_old” a)=Int 255) andalso ((eventAttr
“Cm.Ack” “param4” e)=(pickupAttr “tray_top_old” a) andalso (eventAttr
“Cm.Ack” “param5” e)=(pickupAttr “tray_middle_old” a) andalso (eventAttr
“Cm.Ack” “param6” e)=(pickupAttr “tray_bottom_old” a))) then
(State “S_ready” changeAttr “copy_status_old” ((eventAttr “Cm.Ack” “param?2”
e)) (changeAttr “copy_sub_status_old” ((eventAttr “Cm.Ack” “param3” e)) a) [])
else
(Nl ][]
| Sys_op_panel_status_ctrl (State “S_wait_copy_count” a e env) =
if (memberEv “Cm.Ack” e) then

1160 (State “S_ready” a [(“Ms.Count” [(“counter” (eventAttr “Cm.Ack” “param2”
D)
else
(Nl [] []
| Sys_op_panel_status_ctrl (- - _ _) = (Null [] []);
(* Sys_op_panel_timer_ctrl *)
fun Sys_op_panel_timer_ctrl (Name _ _ _) = (Name [] [(“Sys_op_panel_timer_ctr]”
[DD)

| Sys_op_panel_timer_ctrl (Initial a e env) =

(Parallel [Sys_op_panel_timer_ctrl_tm_400m_ctrl

1170 Sys_op_panel_timer_ctrl_tm_200m_ctrl
Sys_op_panel_timer_ctrl_tm_60s_ctr] Sys_op_panel_timer_ctrl_tm_1s_ctrl]
al)

| Sys_op_panel_timer_ctrl (- - - _) = (Null [] []);

(* Sys_op_panel_key_if *)
fun Sys_op_panel_key_if (Name _ _ _) = (Name [] [(“Sys_op_panel_key_if” [])])
| Sys_op_panel_key_if (Initial a e env) =
(State “S1” a [])
| Sys_op_panel_key_if (State “S1” a e env) =
if (memberEv “Key.In” €) andalso ((eventAttr “Key.In” “ScanCode” e)=Int 10) then
1180 (State “S1” a [(“Key.Clear” [])])
else if (memberEv “Key.In” €) andalso ((eventAttr “Key.In” “ScanCode” e)=Int 11)
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then
(State “S1” a [(“Key.Reset” [])])
else if (memberEv “Key.In” e) andalso ((eventAttr “Key.In” “ScanCode” €e)=Int 12)
then
(State “S1” a [(“Key.Start” [])])
else if (memberEv “Key.In” €) andalso ((eventAttr “Key.In” “ScanCode” e)=Int 13)

then
(State “S1” a [(“Key.Stop” [])])
1190 else if (memberEv “Key.In” e) andalso ((eventAttr “Key.In” “ScanCode” e¢)=Int 14)
then

(State “S1” a [(“Key.Select” [])])
else if (memberEv “Key.In” ) andalso (((eventAttr “Key.In” “code” €)=Int 0
orelse (eventAttr “Key.In” “code” e)>Int 0) andalso ((eventAttr “Key.In” “code”
e)=Int 9 orelse (eventAttr “Key.In” “code” e)<Int 9)) then
(State “S1” a [(“Key.Number” [(“code” (eventAttr “Key.In” “code” €))])])
else if (memberEv “Ms.Jam” e) then
(State “S2” a [])
else
1200 (Null [][]D
| Sys_op_panel_key_if (- - _ _) = (Null [] []);
(* Sys_op_panel led_if *)
fun Sys_op_panel_lcd_if (Name _ _ _) = (Name [] [(“Sys_op_panel_lcd_if” [])])
| Sys_op_panel_lcd_if (Initial a e env) =
(Parallel [Sys_op_panel_lcd_if_mess_lcd Sys_op_panel_lcd_if_psel_lcd
Sys_op_panel_lcd_if_pcent_led Sys_op_panel_lcd_if_jam_lcd] a [])
| Sys_op_panel_led_if (- - - _) = (Null [] []);
(* Sys_op_panel_compori_if *)
fun Sys_op_panel_comport_if (Name _ _ _) = (Name [] [(“Sys_op_panel_comport_if”
1210 )
| Sys_op_panel_comport_if (Initial a e env) =
(State “S_ready” a [])
| Sys_op_panel_comport_if (State “S_ready” a e env) =
if (memberEv “Cm.Send” e) then
(State “S_wait” a [(“Pp.Send” [(“cid” (eventAttr “Cm.Send” “cid” e)) (“cid”
(eventAttr “Cm.Send” “clen” ¢)) (“param2” (eventAttr “Cm.Send” “param2” e))
(“param3” (eventAttr “Cm.Send” “param3” e€)) (“param4” (eventAttr “Cm.Send”
“param4” e))]) (“T'm.ols_Start” [])])
else
1220 (Null [][]D

| Sys_op_panel_comport_if (State “S_wait” a e env) =
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1230

1240

1250

1260

if (memberEv “Pp.Ack” e) then

(State “S_ready” a [(“Cm.Ack” [(“rid” (eventAttr “Pp.Ack” “rid” e)) (“rlen”
(eventAttr “Pp.Ack” “rlen” e)) (“param?2” (eventAttr “Pp.Ack” “param2” e))
(“param3” (eventAttr “Pp.Ack” “param3” e)) (“param4” (eventAttr “Pp.Ack”
“param4” e)) (“paramb” (eventAttr “Pp.Ack” “paramb” e)) (“param6” (eventAttr
“Pp.Ack” “param6” ¢))]) (“Tm.ols_Stop” [])])
else if (memberEv “Pp.Nak” €) then

(State “S_nak” a [(“Ms.Nak” [(“info” (eventAttr “Pp.Nak” “param?2” e))])
(“Tm.ols_Stop” [])])
else if (memberEv “Tm.ols” €) then

(State “S_timeout” a [(“Ms.Timeout” []) (“Tm.ols_Stop” [])])
else

(Null [] [])
| Sys_op_panel_comport_if (_ - _ ) = (Null [] []);

(* Sys_op_panel_cur_settings *)

fun Sys_op_panel_cur_settings (Name _ _ _) = (Name []

[(“Sys_op_panel_cur_settings” [])])
| Sys_op_panel_cur_settings (Initial a e env) =
(State “S1” changeAttr “paper_count” (Int 1) (changeAttr
“paper_select_position” (Int 1) a) [(“Si.CurrentChange” [(“paper_count” Int
1) (“paper_select_position” Int 1)])])
| Sys_op_panel_cur_settings (State “S1” a e env) =
if (memberEv “Si.SetPaperCount” €) then
(State “S1” changeAttr “paper_count” ((eventAttr “Si.SetPaperCount”
“paper_count” e)) a [(“Si.CurrentChange” [(“paper_count” (eventAttr
“Si.SetPaperCount” “paper_count” e)) (“paper_select_position” (pickupAttr
“paper_select_position” a))])])
else if (memberEv “Si.SetPaperPosition” e) then
(State “S1” changeAttr “paper_select_position” ((eventAttr
“Si.SetPaperPosition” “paper_select_position” €)) a [(“Si.CurrentChange”
[(“paper_count” (pickupAttr “paper_count” a)) (“paper_select_position”
(eventAttr “Si.SetPaperPosition” “paper_select_position” e))])])
else
(Nt [] [)
| Sys_op_panel_cur_settings (- - - _) = (Null [] []);
(* Sys_op_panel_def_settings *)
fun Sys_op_panel_def_settings (Name _ _ _) = (Name []
[(“Sys_op_panel_def_settings” [])])
| Sys_op_panel_def_settings (Initial a e env) =
(State “S1” changeAttr “paper_count” (Int 1) (changeAttr
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“paper_select_position” (Int 1) a) [(“Si.DefaultChange” [(“paper_count” Int
1) (“paper_select_position” Int 1)])])
| Sys_op_panel_def_settings (- - - _) = (Null [] []);
(* Sys_op_panel x)
fun Sys_op_panel (Name _ _ _) = (Name [] [(“Sys_op-panel” [])])
| Sys_op_panel (Initial a e env) =
(Parallel [Sys_op_panel_copy_ctrl Sys_op_panel_status_ctrl
Sys_op_panel_timer_ctrl Sys_op_panel_key_if Sys_op_panel_lcd_if
1270 Sys_op_panel _comport_if Sys_op_panel_cur_settings
Sys_op_panel_def_settings| a [])
| Sys_op_panel (- - _ _) = (Null [] []);
(%
symbol table of class
0: Default_Settings (CLASS)
1: Si (FIELD)
S1 (STATE(state))
paper_count (ATTRIBUTE)
paper_select_position (ATTRIBUTE)
Start (TRANSITION)
Current_Settings (CLASS)
Si (FIELD)
S1 (STATE(state))
paper_count (ATTRIBUTE)
10:  paper_select_position (ATTRIBUTE)
11:  Start (TRANSITION)
12 T1 (TRANSITION)
13: T2 (TRANSITION)
14: Copy_Control (CLASS)
1200 15: St (FIELD)
16:  Ms (FIELD)
17:  Tm (FIELD)
18:  Si (FIELD)
19: Key (FIELD)
20:  S_ready (STATE(state))
21:  S_copy (STATE(state))
22 S_startl (STATE(state))
23:  S_start?2 (STATE(state))
24 S_stopl (STATE(state))
1300 25 S_stop2 (STATE(state))
26:  S_emptyl (STATE(state))

1280

© o N R
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1310

1320

1330

1340

27:
28:
29:
30:
31:
32:
33:
34:
35:
36:
37:
38:
39:
40:
41:
42:
43:
44:
45:
46:
47:
48:
49:
50:
51:
52:
53:
54:
55:
56:
. Status_Control (CLASS)
58:
59:
60:
61:
62:
63:
64:
65:
66:

57

S_empty?2 (STATE(state))

S_reset (STATE(state))

S_select (STATE(state))

default_paper_count (ATTRIBUTE)
default_paper_select_position (ATTRIBUTE)
current_paper_count (ATTRIBUTE)
current_paper_select_position (ATTRIBUTE)
key_input_start_flag (ATTRIBUTE)

Start (TRANSITION)

T1 (TRANSITION)

T2 (TRANSITION)

T8 (TRANSITION)

T} (TRANSITION)

T5 (TRANSITION)

T6 (TRANSITION)

T7 (TRANSITION)

T7.2 (TRANSITION)

T8 (TRANSITION)

T9 (TRANSITION)

T10 (TRANSITION)

T11 (TRANSITION)
T12 (TRANSITION)
T13 (TRANSITION)
714 (TRANSITION)
T15 (TRANSITION)
T16 (TRANSITION)
T17 (TRANSITION)
T18 (TRANSITION)
719 (TRANSITION)
T20 (TRANSITION)

St (FIELD)

Ms (FIELD)

Tm (FIELD)

Si (FIELD)

copy_status_old (ATTRIBUTE)
copy_sub_status_old (ATTRIBUTE)
tray_top_old (ATTRIBUTE)
tray-middle_old (ATTRIBUTE)
tray_bottom_old (ATTRIBUTE)
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67:  default_paper_count (ATTRIBUTE)
68:  default_paper_select_position (ATTRIBUTE)
69:  current_paper_count (ATTRIBUTE)
70:  current_paper_select_position (ATTRIBUTE)
71:  S_ready (STATE(state))
72: S wait_status (STATE(state))
73:  S_wait_copy_count (STATE(state))
74:  Start (TRANSITION)
1350  75:  T1 (TRANSITION)
76: T2 (TRANSITION)
77: T3 (TRANSITION)
78: T/ (TRANSITION)
79:  T5 (TRANSITION)
80: 76 (TRANSITION)
81: T7 (TRANSITION)
82: T8 (TRANSITION)
83: T9 (TRANSITION)
84:  T10 (TRANSITION)

1360 85: T1!1 (TRANSITION)
86: T12 (TRANSITION)
87:  Ti13 (TRANSITION)
88: T14 (TRANSITION)
89:  T15 (TRANSITION)
90: Ti6 (TRANSITION)
91:  T17 (TRANSITION)
92:  Ti18 (TRANSITION)
93: T19 (TRANSITION)
94:  T20 (TRANSITION)
1370 95: T21 (TRANSITION)
96:  T22 (TRANSITION)
97:  T23 (TRANSITION)
98: T2/ (TRANSITION)
99:  T25 (TRANSITION)

100:  T26 (TRANSITION)
101:  T27 (TRANSITION)
102:  T28 (TRANSITION)
103:  T29 (TRANSITION)
104: T30 (TRANSITION)
1380 105: T31 (TRANSITION)
106:  T32 (TRANSITION)
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1390

1400

1410

1420

107:
108:
109:
110:
111:
112:
113:
114:
115:
116:
117:
118:
119:
120:
121:
122:
123:
124:
125:
126:
127:
128:
129:
130:
131:
132:
133:
134:
135:
136:
137:
138:
139:
140:
141:
142:
143:
144:
145:
146:

733 (TRANSITION)
T34 (TRANSITION)
T35 (TRANSITION)
T36 (TRANSITION)
T37 (TRANSITION)
738 (TRANSITION)
T39 (TRANSITION)
T39_2 (TRANSITION)
T39_8 (TRANSITION)
T40 (TRANSITION)
T41 (TRANSITION)
T42 (TRANSITION)
T43 (TRANSITION)
T44 (TRANSITION)
T45 (TRANSITION)
T46 (TRANSITION)
T47 (TRANSITION)
T48 (TRANSITION)
T49 (TRANSITION)
T50 (TRANSITION)
T51 (TRANSITION)
T52 (TRANSITION)
T53 (TRANSITION)
T54 (TRANSITION)
T55 (TRANSITION)
T56 (TRANSITION)
T57 (TRANSITION)
T58 (TRANSITION)
T59 (TRANSITION)
T60 (TRANSITION)
T61 (TRANSITION)
T62 (TRANSITION)
T63 (TRANSITION)
T64 (TRANSITION)
T65 (TRANSITION)
T66 (TRANSITION)
T67 (TRANSITION)
T68 (TRANSITION)
T69 (TRANSITION)
T70 (TRANSITION)
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1430

1440

1450

1460

147:
148:
149:
150:
151:
152:
153:
154:
155:
156:
157:
158:
159:
160:
161:
162:
163:
164:
165:
166:
167:
168:
169:
170:
171:
172:
173:
174:
175:
176:
177:
178:
179:
180:
181:
182:
183:
184:
185:
186:

T71 (TRANSITION)
T71.2 (TRANSITION)
T71.8 (TRANSITION)
T72 (TRANSITION)
T72_2 (TRANSITION)
T73 (TRANSITION)
T73_2 (TRANSITION)

Timer_400m_Interval (CLASS)

Tm (FIELD)

S_on (STATE(state))
S_off (STATE(state))
Start (TRANSITION)
T1 (TRANSITION)
T2 (TRANSITION)
T3 (TRANSITION)

Timer_200m_Interval (CLASS)

Tm (FIELD)

S_on (STATE(state))
S_off (STATE(state))
Start (TRANSITION)
T1 (TRANSITION)

T2 (TRANSITION)

T3 (TRANSITION)

Timer_60s_Timeout (CLASS)

Tm (FIELD)

S_on (STATE(state))
S_off (STATE(state))
Start (TRANSITION)
T1 (TRANSITION)
T2 (TRANSITION)
T3 (TRANSITION)

Timer_1s_Timeout (CLASS)

Tm (FIELD)

S_on (STATE(state))
S_off (STATE(state))
Start (TRANSITION)
T1 (TRANSITION)
T2 (TRANSITION)
T3 (TRANSITION)

Timer_Control (CLASS)

287



187:  tm_400m_ctrl (OBJECT)
188:  tm_200m_ctrl (OBJECT)
189:  tm_60s_ctrl (OBJECT)
190:  tm_Is_ctrl (OBJECT)
191:  timer_ctri_children (STATE(parallel object))
192: Start (TRANSITION)
193: Key_Interface (CLASS)
194:  Key (FIELD)
1470 195:  Ms (FIELD)
196:  SI (STATE(state))
197:  S2 (STATE(state))
198:  Start (TRANSITION)
199: Ti10 (TRANSITION)
200:  T11 (TRANSITION)
201:  T12 (TRANSITION)
202:  T13 (TRANSITION)
203: T1j (TRANSITION)
204:  Tn (TRANSITION)
1480  205: Td (TRANSITION)
206: ComPort_Interface (CLASS)
207. Cm (FIELD)
208: Pp (FIELD)
209:  Tm (FIELD)
210: Ms (FIELD)
211:  S_ready (STATE(state))
212 S_wait (STATE(state))
213 S_nak (STATE(state))
214 S_timeout (STATE(state))
1490  215:  Start (TRANSITION)
216: Ti (TRANSITION)
217: T2 (TRANSITION)
218: T3 (TRANSITION)
219: T4 (TRANSITION)
220: Message_ LCD (CLASS)
221:  Ms (FIELD)
222 message (ATTRIBUTE)
223: nak_code (ATTRIBUTE)
224:  S1 (STATE(state))
1500 225:  Start (TRANSITION)
226: Ti (TRANSITION)
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1510

1520

1530

1540

227:
228:
229:
230:
231:
232:
233:
234:
235:
236:
. PaperSelect LCD (CLASS)

237

238:
239:
240:
241:
242:
243:
244
245:
246:
. PaperCount_LCD (CLASS)
248:
249:
250:
251:
252:
. Jam_LCD (CLASS)

247

253

254:
255:
256:
257:
258:
259:
260:
261:
262:

263

264
265:
266:

T2 (TRANSITION
T3 (TRANSITION
T} (TRANSITION
T5 (TRANSITION
T6 (TRANSITION
T7 (TRANSITION
T8 (TRANSITION)
T91 (TRANSITION)
T92 (TRANSITION)
T93 (TRANSITION)

N e e’ N e N

Ms (FIELD)

S1 (STATE(state))
top (ATTRIBUTE)
middle (ATTRIBUTE)
bottom (ATTRIBUTE)
current (ATTRIBUTE)
Start (TRANSITION)
T1 (TRANSITION)
T2 (TRANSITION)

Ms (FIELD)

S1 (STATE(state))
count (ATTRIBUTE)
Start (TRANSITION)
T2 (TRANSITION)

Ms (FIELD)

S1 (STATE(state))

S2 (STATE(state))
message (ATTRIBUTE)
pos! (ATTRIBUTE)
pos2 (ATTRIBUTE)
pos3 (ATTRIBUTE)
Start (TRANSITION)
T1 (TRANSITION)

. LCD_Interface (CLASS)

St (FIELD)
mess_lcd (OBJECT)
psel_led (OBJECT)
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1550

1560

1570

1580

267:
268:
269:
270:
271:
272:
273:
274:
275:
276:
277:
278:
279:
280:
281:

282

283:
284:
285:

pent_led (OBJECT)
jam_led (OBJECT)
led_if_child (STATE(parallel object))
Start (TRANSITION)
Operation_Panel (CLASS)
copy_ctrl (OBJECT)
status_ctrl (OBJECT)
timer_ctrl (OBJECT)
key_if (OBJECT)
led_if (OBJECT)
comport_if (OBJECT)
cur_settings (OBJECT)
def_settings (OBJECT)
panel_children (STATE(parallel object))
Start (TRANSITION)
: Sys (CLASS)
op_panel (OBJECT)
op_panel (STATE(single object))
Start (TRANSITION)

symbol table of field
0: Ms (FIELD)

1:

© L NI RN
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18:
19:

Wait (EVENT)
Standby (EVENT)
Copy (EVENT)
Stop (EVENT)
Reset (EVENT)
Empty (EVENT)
Restart (EVENT)
Range (EVENT)
Size (EVENT)
Select (EVENT)
Count (EVENT)
Jam (EVENT)
Nak (EVENT)
Timeout (EVENT)
IiState (EVENT)
Key (FIELD)
In (EVENT)
Number (EVENT)
Clear (EVENT)
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20 Reset (EVENT)
21:  Start (EVENT)
22:  Stop (EVENT)
23:  Select (EVENT)
24: St (FIELD)
25 Wait (EVENT)
26:  Wait_Empty (EVENT)
27:  Wait_Range (EVENT)
1590 28:  Standby (EVENT)
29:  Standby_Empty (EVENT)
30:  Standby_Range (EVENT)
31:  Copy (EVENT)
32 Stop (EVENT)
33 Jam (EVENT)
34:  Copy_Empty (EVENT)
35:  Restart (EVENT)
36:  Reset (EVENT)
37 Cm (FIELD)
1600 38: Send (EVENT)
39:  Ack (EVENT)
40: Pp (FIELD)
41:  Send (EVENT)
42:  Ack (EVENT)
43:  Nak (EVENT)
44: Tm (FIELD)
45:  ij00m (EVENT)
46:  1{00m_interval (EVENT)
47:  i400m_Start (EVENT)
1610  48:  4400m_Stop (EVENT)
49: 200 (EVENT)
50:  i200m_interval (EVENT)
51:  200m_Start (EVENT)
52 i200m_Stop (EVENT)
53  o60s (EVENT)
54:  060s_timeout (EVENT)
55:  060s_Start (EVENT)
56:  060s_Stop (EVENT)
57:  ols (EVENT)
1620 58:  ols_timeout (EVENT)
59:  ols_Start (EVENT)
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60: ols_Stop (EVENT)
61: Si (FIELD)
62:  DefaultChange (EVENT)
63:  CurrentChange (EVENT)
64:  SetPaperCount (EVENT)
65:  SetPaperPos (EVENT)
symbol table of event class
0: GENERIC_EVENT (CLASS)
1630 1: Paper_Size_Display_Event (CLASS)
2. top (ATTRIBUTE)
3 middle (ATTRIBUTE)
4  bottom (ATTRIBUTE)
5: Paper_Select_Display_Fvent (CLASS)
6 current (ATTRIBUTE)
7: Paper_Counter_Display_Event (CLASS)
8 counter (ATTRIBUTE)
9: Nak_Info_Display_Event (CLASS)
10:  info (ATTRIBUTE)
1640 11: Jam_Display_Event (CLASS)
12:  post (ATTRIBUTE)
13:  pos?2 (ATTRIBUTE)
14:  pos3 (ATTRIBUTE)
15: Scan_Code_FEvent (CLASS)
16:  code (ATTRIBUTE)
17: Number_Key_FEvent (CLASS)
18:  code (ATTRIBUTE)
19: Command_Send_Event (CLASS)
20:  cid (ATTRIBUTE)
1650  21: clen (ATTRIBUTE)
22:  param2 (ATTRIBUTE)
23:  param3 (ATTRIBUTE)
24 paramj (ATTRIBUTE)
25: Ack_Receive_Event (CLASS)
26:  rid (ATTRIBUTE)
27 rlen (ATTRIBUTE)
28:  param2 (ATTRIBUTE)
29:  param8 (ATTRIBUTE)
30:  param4 (ATTRIBUTE)
1660 31:  params (ATTRIBUTE)
32:  param6 (ATTRIBUTE)
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1670

1680

1690

1700

33:  param7 (ATTRIBUTE)

34:  param8 (ATTRIBUTE)

35: Physical_Command_Send_Event (CLASS)
36:  cid (ATTRIBUTE)

37 clen (ATTRIBUTE)

38:  param2 (ATTRIBUTE)

39:  param3 (ATTRIBUTE)

40:  param4 (ATTRIBUTE)

41: Physical_Ack_Receive_Event (CLASS)
42:  rid (ATTRIBUTE)

43 rlen (ATTRIBUTE)

44:  param2 (ATTRIBUTE)

45:  param8 (ATTRIBUTE)

46:  param4 (ATTRIBUTE)

47:  params (ATTRIBUTE)

48:  paramé (ATTRIBUTE)

49:  param7 (ATTRIBUTE)

50: param8 (ATTRIBUTE)

51: Physical_Nak_Receive_Event (CLASS)
52 rid (ATTRIBUTE)

53:  rlen (ATTRIBUTE)

54:  param2 (ATTRIBUTE)

55: Set_Paper_Count_FEvent (CLASS)

56:  paper_count (ATTRIBUTE)

57: Set_Paper_Position_Event (CLASS)
58:  paper_pos (ATTRIBUTE)

59: Setting_Change_Event (CLASS)

60:  paper_count (ATTRIBUTE)

61:  paper_select_position (ATTRIBUTE)

instance list

tm_400m_ctrl . Timer_400m_Interval
tm_200m_ctrl : Timer_200m_Interval
tm_60s_ctrl : Timer_60s_Timeout
tm_1s_ctrl : Timer_1s_Timeout
mess_lcd : Message LCD

psel_led : PaperSelect_LCD

pent_led @ PaperCount_ LCD

jam_led : Jam_LCD

copy_ctrl : Copy_Control

status_ctrl : Status_Control
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timer_ctrl : Timer_Control
key_if : Key_Interface

led_if : LCD_Interface
comport_if : ComPort_Interface
cur_settings : Current_Settings
def settings : Default_Settings
op_panel : Operation_Panel
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